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Question Label : Comprehension
The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject
(shown in brackets). Based on the data in the table, answer the questions that follow.
Student-wise Percentage of Marks in Six Subjects

Subjects (Maximum Marks)
A (150) | B (100) | C(150) | D (125) | E(75) | F(50)
Anil | 66% | 75% | 88% | 56% | 56% | 90%
Arman | 82% | 76% | 84% | 96% | 92% | 8%
Arpit | 76% | 66% | 78% | 88% | 72% | 70%
Gaurav| 90% | 8% | 96% | 76% | 84% | 86%
Gurjit | 64% | 70% | 68% | 72% | 68% | 74%
Priva | 48% | 56% | 50% | o64% | 64% | 58%

Students

Sub questions



Question Number : 1 Question Id : 87827039670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How many marks did Anil get in all the six subjects together ?

(1) 369
(2) 463
(3) 558
(4) 496

Options :

878270155841. 1
878270155842. 2
878270155843. 3

878270155844. 4

Question Number : 2 Question Id : 87827039671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Total marks obtained in all the six subjects together is more than 490 by exactly students.
(1) two

2
3

4

(2) three

(3) four

(4) five
Options :
878270155845. 1
878270155846. 2
878270155847. 3

878270155848. 4

Question Number : 3 Question Id : 87827039672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

If M and N represent the average marks obtained by all the six students together in subjects C and
E, respectively, then (M, N) =

(1) (112, 56.5)
(2) (114, 55)

(3) (115, 56)

(4) (116, 54.5)
Options :

878270155849. 1
878270155850. 2
878270155851. 3

878270155852. 4

Question Number : 4 Question Id : 87827039673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

together. (rounded off to two digits after decimal)
() 27.35

Marks obtained by Gauravare % more than that of Gurjit in all the six subjects

(2) 2452
(3) 29.45
(4) 2815
Options :

878270155853. 1
878270155854. 2
878270155855. 3

878270155856. 4

Question Number : 5 Question Id : 87827039674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the different between the average marks obtained in subjects A and E by all the six students
together ?

(1) 48

(2) 50

@3) 52

g

Options:

=y

878270155857. 1
878270155858. 2
878270155859. 3
878270155860. 4

Question Id : 87827039669 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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A (150) | B(100) | C(150) | D(125) | E(75) | F(50)
g | 6% | B% | 8% | 56% | 56% | 90%
aoH | 82% | 7% | 8% | 96% | 92% | 88%
afm | 76% | 66% | 78% | 88% | 7% | 70%
ic 90% | 8% | %% | 76% | 84% | 86%
T | 6% | 0% | 68% | T2% | 68% | 74%
fir 48% | 56% | 50% | 64% | 64% | 58%

Sub questions



Question Number : 1 Question Id : 87827039670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
g+t 3% faudi F1 T Ty fHere e &1 faad 3 fae ?

(1) 369
(2) 463
(3) 558
(4) 496
Options :

878270155841. 1
878270155842. 2
878270155843. 3

878270155844. 4

Question Number : 2 Question Id : 87827039671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it 9% formt o e for 0 it o) o e foreet S fae fermfelan 01490 % arfier o et 82

Options :

878270155845. 1
878270155846. 2
878270155847. 3
878270155848. 4



Question Number : 3 Question Id : 87827039672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e M SN, F99: C A, fort & wvit e foranfefdt gro oo v foreramt w7t o 110 ol & i =
TEFIEAMN=_ |

(1) ﬂlleS)

(2) (114,55
(3) (1556
(4) (116, 545)
Options :
878270155849. 1
878270155850. 2
878270155851. 3

878270155852. 4

Question Number : 4 Question Id : 87827039673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ol B% forl 1 O WY TR TG g 9 o TS AR A SR A g W %
fv 1 (cera o T & i A ol fo T )
(1) 27.35
(2) 2452
(3) 2945
(&) 2815
Options :
878270155853. 1
878270155854. 2
878270155855. 3

878270155856. 4



Question Number : 5 Question Id : 87827039674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

a5t e forenfeldl ot e T fetet A oiR B fomal & o of & ofvga & weg o o 7

(1) 48
(2) 50
(3) 52
(4) 54
Options :

878270155857. 1
878270155858. 2
878270155859. 3

878270155860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701666
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827039675 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following types of assessments would be most beneficial for assessing a student’s
ability to debate ?

(1) Formative Assessment

(2
&
(

Summative Assessment

s

4

) Ipsative Assessment
) Performance Assessment

Options :
878270155861. 1

878270155862. 2



878270155863. 3

878270155864. 4

Question Number : 6 Question Id : 87827039675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
oo 1 et o 9 R a1 e ferrfe o are-fore e A o e F % fa
ol TR ¢/
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Options :

878270155861. 1
878270155862. 2
878270155863. 3

878270155864. 4

Question Number : 7 Question Id : 87827039676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  Edmodo (online tool) helps teachers to stay in touch with parents, share updates
and discuss student progress.

Statement II:  Duolingo is a online language learning platform.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270155865. 1

878270155866. 2

878270155867. 3

878270155868. 4

Question Number : 7 Question Id : 87827039676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155865. 1

878270155866. 2



878270155867. 3
878270155868. 4

Question Number : 8 Question Id : 87827039677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In self-directed learning, metacognitive knowledge includes :
(A) Contextual knowledge

(B) Factual knowledge

(C) Procedural knowledge

(D) Technological knowledge

(E) Practical knowledge

Choose the correct answer from the options given below :

(1) (A), (D) and (E) Only

(2) (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (B) and (D) Only

Options :

878270155869. 1
878270155870. 2
878270155871.3

878270155872. 4

Question Number : 8 Question Id : 87827039677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



- fdfera siferm # sifergamreTs 99 o Aifed €
(A) Haulcas 1

(B) ATHF TH

(C) R s I

(D) HwEfTeR 34

(E) oI I

9 feu o fosredi # | W& SO FGH Hif
() e (A), (D) 3T (E)

(2) 9 (C) 3R (D)
(3) %A (A), (B) 3R (C)
(4) 9 (B) 3R (D)
Options :

878270155869. 1
878270155870. 2
878270155871. 3
878270155872. 4

Question Number : 9 Question Id : 87827039678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which learning sl}fle mvolves the extent to which students approach leamjng materials in a way
that helps them understand the meaning of the materials :

(1)  Surface styles
(2) Impulsivestyles
(3)  Deep styles

(4)  Reflective styles

=y

Options :
878270155873. 1
878270155874. 2

878270155875. 3



878270155876. 4

Question Number : 9 Question Id : 87827039678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270155873. 1
878270155874. 2
878270155875. 3

878270155876. 4

Question Number : 10 Question Id : 87827039679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"When competent readers encounter new sentences in their native language, they read them
automatically” is an example of learning ?

(I) High-road transfer

2

Near transter

}

2
(3) Low-road transfer
(4) Far transfer
Options :
878270155877. 1

878270155878. 2



878270155879. 3

878270155880. 4

Question Number : 10 Question Id : 87827039679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155877. 1
878270155878. 2
878270155879. 3

878270155880. 4

Question Number : 11 Question Id : 87827039680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Identify the software used for detecting plagiarism :
(A) Mendley

(B) Turnitin

(C) Compiler

(D) Ithenticate

Choose the correct answer from the options given below :
(I) (A) and (B) Only

() (A), (B) and (C) Only

(3) (A), (B) and (D) Only

(4) (B) and (D) Only

Options:

878270155881. 1

878270155882. 2

878270155883. 3

878270155884. 4

Question Number : 11 Question Id : 87827039680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
aifeferss =1 & 9 &R F AU 5§ 9N S a9 9 F UEEE '
(A) Hed
() zfHfe
(C) THHIEeR
(D) @mEafhe
A= feu o fosedl o 9 W& SR 1 =99 S
(1) 9 (A) 3R (B)
A (A), (B) 4R (C)
Fad (A), (B) 3 (D)
e (B) ¥ (D)

)
(2)
(3)
(4)
Options :

878270155881. 1



878270155882. 2
878270155883. 3

878270155884. 4

Question Number : 12 Question Id : 87827039681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following approaches to the analysis of content is based on the study of signs ?
(1) Semiotics

@)

(3) Content Analysis
)

Ethnography

Quantitative Research

Options :

878270155885. 1
878270155886. 2
878270155887. 3
878270155888. 4

Question Number : 12 Question Id : 87827039681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270155885. 1

878270155886. 2



878270155887. 3

878270155888. 4

Question Number : 13 Question Id : 87827039682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in correct sequence according to APA style of referencing :
(A) Title of the research article

(B) Year of publication

(C) Name of journal

(D) Name of anthor

Choose the correct answer from the options given below :

(1) (@A) ), (©) D)

@ (&) (©) D) (B)
() @) (A)(©) B
(4 @) (B) (4) ©

Options :

878270155889. 1
878270155890. 2
878270155891. 3

878270155892. 4

Question Number : 13 Question Id : 87827039682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270155889. 1
878270155890. 2
878270155891. 3

878270155892. 4

Question Number : 14 Question Id : 87827039683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It you wish to test whether p[)pulation mean 1 lower than some h}fpnthesized value, you would

apply :

(1) one-tailed test

(2) two-tailed test

(3) half-tailed test

(4)  three-tailed test

Options :

878270155893. 1

878270155894, 2

878270155895, 3

878270155896. 4



Question Number : 14 Question Id : 87827039683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155893. 1
878270155894. 2
878270155895. 3

878270155896. 4

Question Number : 15 Question Id : 87827039684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “ante” used inacademic
writing ?
(1) anonymous

(2) before
(3) after
g

s |

4) and others
Options :
878270155897. 1
878270155898. 2
878270155899. 3

878270155900. 4



Question Number : 15 Question Id : 87827039684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155897. 1
878270155898. 2
878270155899. 3

878270155900. 4

Question Number : 16 Question Id : 87827039685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

All forms of communication are evaluated in relation to :
(1) Face to face communication

(2) Radio transmission

(3) Television entertainment
(4) Internet usage

Options :

878270155901. 1
878270155902. 2
878270155903. 3

878270155904. 4



Question Number : 16 Question Id : 87827039685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[l YR % FRIU o Hodich feread W 8 forger gey | foran s ¢ ?
(1) T

(2) fed yERy

(3) TEIA HARSH

(4) T W ITE
Options :

878270155901. 1
878270155902. 2
878270155903. 3

878270155904. 4

Question Number : 17 Question Id : 87827039686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the fs:)llnwing media is often described as ‘one da}r best seller’ ?

(1) Radio

(2) Internet
(3) Novel
(4) Newspaper

Options :

878270155905. 1
878270155906. 2
878270155907. 3

878270155908. 4

Question Number : 17 Question Id : 87827039686 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fr=fafas § @ g dfea & seam w3 ‘o fo7 &1 5w fogpa’ & &0 W fen S 82

(1) e
() TR
(3) S9H
(4) HHER
Options :

878270155905. 1
878270155906. 2
878270155907. 3

878270155908. 4

Question Number : 18 Question Id : 87827039687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Greek rhetorical communication Emphasised on the elements of :

Delayed feedback

B) Lower class language

D) Ethos
E) Pathos

Choose the correct answer from the options given below :

(
(
(C) Logos
(
(

() (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (B) and (D) Only
4) (©), (D) and (E) Only

Options:
878270155909. 1

878270155910. 2



878270155911. 3

878270155912. 4

Question Number : 18 Question Id : 87827039687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT SrRTZargul Yol H foRe qeell 9wl T s o ?
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(1) %9 (A), (B) 3R (C)
(2) %99 (B), (C) ¥R (D)
(3) &F9A (A), (B) IR (D)
(4) 9 (C), (D) ¥R (E)

Options :

878270155909. 1
878270155910. 2
878270155911. 3

878270155912. 4

Question Number : 19 Question Id : 87827039688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : ~ When passive defence systems are encouraged, a defensive response will resist
attitudinal change, if we apply the inoculation theory of communication.

Statement I1; A strong dose of argument will strengthen the receiver’'s immune system.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270155913. 1

878270155914. 2

878270155915. 3

878270155916. 4

Question Number : 19 Question Id : 87827039688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155913. 1

878270155914. 2



878270155915. 3

878270155916. 4

Question Number : 20 Question Id : 87827039689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Through feedback, students can later critique their own communication
competence outside the classroom.

Statement II:  Motivational orientation towards communication should be identified by teachers
to better the communication competence of the students.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270155917. 1

878270155918. 2

878270155919. 3

878270155920. 4

Question Number : 20 Question Id : 87827039689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FIﬁaWﬁ'QﬂT{%‘:
TR (1): Vel (Treas) & meam g, 3 o W e W AT S O ) e 1 T g
el

T (1) e gm0 w9Tm % oo aHfirRomers sfvweEm #1 wan # 9 ak afE om 5
Y 47 oF B

TG o & e H, A fou T foeredt # 4 W S T A

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) 1 HA ¢, Cifé e 11 997 2

(4) U1 H &, A FAHA &

Options:

878270155917. 1
878270155918. 2
878270155919. 3

878270155920. 4

Question Number : 21 Question Id : 87827039690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A person travels 365 km in 8 hours in two stages. In the first part of the journey, he travels by bus
at the speed of 40 km/hour and in the second part of the joumey, he travels by train at the speed
of 55 km/hour. How much distance did he travel by train ?

) 165 km
) 170 km
) 200 km
) 164 km

Options :
878270155921. 1
878270155922. 2

878270155923. 3



878270155924. 4

Question Number : 21 Question Id : 87827039690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T el <) 000 § Wi W 365 ot o A0 T € | U S A i 40 TR/ R T § 9 g
7 0 € 70 T 1 G o g 55 R A i A A A R | 3 A g Fre A
(1) 165 fot

2) 170 fereit
3) 200 foret

4) 164 ferri
Options :
878270155921. 1
878270155922. 2
878270155923. 3

878270155924. 4

Question Number : 22 Question Id : 87827039691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the average of 10 numbers is 40 and the average of six of them is 28, then the average of the
remaining four numbers is :

(1) 52

(2) 54
(3) 56
(4) 58

s

Options :
878270155925. 1

878270155926. 2



878270155927. 3

878270155928. 4

Question Number : 22 Question Id : 87827039691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o 10 Femell 1 399 40 € 741 370 | T &1 ol 28 €, 3 99 =R gemsd 1 sfed o a2
(1) 52

2) 54
3) 56
) 58

"

(
(4
Options :

878270155925. 1
878270155926. 2
878270155927. 3

878270155928. 4

Question Number : 23 Question Id : 87827039692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

¥ 3080 is divided among A,B and C so that half of A's part, one third of Bs part and one sixth of
C's part are equal. Then B's part is

(1) ¥ 840

(2) %90
(3) ¥ 1080
(4) 72

Options :
878270155929. 1

878270155930. 2
878270155931. 3



878270155932. 4

Question Number : 23 Question Id : 87827039692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3080 AB AR CH 3 AR aa S 2 A% 5 o B ¥ foed o vor-ford qwn O % o
&1 Tl T a0 &, A F e &

(1) T840

(2) %90
(3) 1080
(&) %70
Options :
878270155929. 1
878270155930. 2
878270155931. 3

878270155932. 4

Question Number : 24 Question Id : 87827039693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the values of P and in the [o]lawing number series ?

2, 8 o, 0y 12 28, PuCl i

(1) 48, 96
2) 20, 60
(3 12,120
(4) 48, 50
Options :

878270155933. 1
878270155934. 2

878270155935. 3



878270155936. 4

Question Number : 24 Question Id : 87827039693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefafea sie gEen § P IR Q 1 7F 71 8m 2
2,0,6,6,12,24, P, Q, ccovvvvveeee...

(1) 48, 96
(2) 20, 60
(3) 12, 120
(4) 48, 50
Options :

878270155933. 1
878270155934. 2
878270155935. 3

878270155936. 4

Question Number : 25 Question Id : 87827039694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A’ sells an article to ‘B at 20% profit. ‘B’ sells it to “C" at 15% loss. If ‘C" pays ¥ 510 for it, then ‘A’

purchased it at :

(1) 480

(2) 490

(3) T 500

(4) %520
Options :
878270155937. 1
878270155938. 2

878270155939. 3



878270155940. 4

Question Number : 25 Question Id : 87827039694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘A" Tl 1B I 20% T WS € 1 ‘B TR C o 15% B Wi € | A’ C A 3 for 2510
o1 ST fere, 1A 7 98 Fove o ey o2
(1) T480
(2) %490
(3) %500
(&) T520
Options :
878270155937. 1
878270155938. 2
878270155939. 3

878270155940. 4

Question Number : 26 Question Id : 87827039695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing abstractness :
(A) Mobile Telephone

(B) Android Phone

(C) Communication device

(D) Telephone

Choose the correct answer from the options given below :

(L) (®), (A), (D), Q)

(2) (®), (D), (A), (©)

(3) (©), (D), (A), (B)

4 (O, (A), (B), (D)

Options :



878270155941. 1
878270155942. 2
878270155943. 3

878270155944. 4

Question Number : 26 Question Id : 87827039695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fefcftaa gl 1 Ffeead/sTHad & 9ed %H H Haikyd S
(A) HIEEA SEHA

(B) U WM
(C) IR ITHI
(D) ZEHH

= feu v fasredi § 9 9 3T 1 =994 S0 -
() (B), (A), (D), (©)

(2) (B), (D), (A), (©)

(@) (©), (D), (A), (B)

(4) (©), (A), (B), (D)

Options :

878270155941. 1

878270155942. 2

878270155943. 3

878270155944. 4

Question Number : 27 Question Id : 87827039696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No metals are gases

(B) No gases are metals
(C) No metals are non-gases
(D) All metals are non-gases

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (©) and (D) Only

(4) (A) and (B) Only

Options:

878270155945, 1

878270155946. 2

878270155947, 3

878270155948. 4

Question Number : 27 Question Id : 87827039696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 2 ¥ FeA qifthed 9 9 97 & 2
(A) g off g Ty e @

(B) I oft g urg 7 ©

(C) wIZ off arg Te-Trm e &

(D) Toft agd T €

= feu v fasredi § 9 | 3O & =94 iU -
(1) = (A), (B) ¥R (D)

(2) % (A), (B) 3R (C)
(3) dd (B), (C) ¥R (D)
(4) FIA (A) 3R (B)

Options :



878270155945. 1
878270155946. 2
878270155947. 3

878270155948. 4

Question Number : 28 Question Id : 87827039697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"All phenomena in the universe are saturated with moral values. Therefore, we can conclude that
the universe for the Chinese is a moral universe”. Which informal fallacy is committed in the above
statement ?

(I)  Slippery Slope

(2) Begging the Question

(3) Hasty Generalisation

(4) Fallacy of Composition

Options :

878270155949. 1

878270155950. 2

878270155951. 3

878270155952. 4

Question Number : 28 Question Id : 87827039697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
"Rt H R TR At T 8 W (FER) O ¢ | e e e e ek & 6 i %
me#ﬁﬁﬁm%w T F | B T ST T A e
) (e Fer
(2) A A
(3) ot qHE
(4) wefagm




Options :

878270155949. 1
878270155950. 2
878270155951. 3
878270155952. 4

Question Number : 29 Question Id : 87827039698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logica]lyF equiualent to the statement “All beverages are
liquid" ?
(I)  All non-liquids are non-beverages.

2

Some beverages are liquid.

2
(3)  Allliquids are beverages.
g

}

Some ]11 uids are bevera ages.

Options:

878270155953. 1
878270155954. 2
878270155955. 3
878270155956. 4

Question Number : 29 Question Id : 87827039698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gl T e B B - freifatEd B § B T e e ¥ Y 38 FH F I §
1) 94 T-gd M-T 8 & |

) %9 T 7 e

) T Z I E

) F9 7 WA



Options :

878270155953. 1
878270155954, 2
878270155955, 3
878270155956. 4

Question Number : 30 Question Id : 87827039699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallatious, as per classical Indian school of logic, because of
the middle term being too narrow ?

(I)  All things are non-eternal because they are knowable

(2
3
(4

) The hill has fire because it is knowable
) Sound is eternal because it is audible

) Wherever there is fire, there is smoke
Options:

878270155957. 1

878270155958. 2

878270155959, 3

878270155960. 4

Question Number : 30 Question Id : 87827039699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R W = T 3 o frefetan 8 4 B0 1 9 g € i T v e S e
A ?

(1) T o - € e | 3

NIRERE UL Rk
(3) %A Ve & il 78 94 &
() e amE T g g
Options:
878270155957. 1
878270155958. 2
878270155959. 3

878270155960. 4

Question Number : 31 Question Id : 87827039700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I+ (0.5625);, = (09),,
Statement I:  (0.3),, = (0.4BBB....);

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270155961. 1

878270155962. 2

878270155963. 3

878270155964. 4

Question Number : 31 Question Id : 87827039700 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FIT (D) : (0.5625);, = (0.9)4,
FYA (1) : (0.3);, = (0.4BBB.....)(
IR FYA & 3k H, A f9u 7 faskedi § | W& I T Hi

(1) IR FHAT IS 6 ©

() YT R YA T IFH €

(3) YR I HH T, Al HUTIL 370 B
(4) HITIHHA B, WAl AT A €
Options :

878270155961. 1
878270155962. 2
878270155963. 3

878270155964. 4

Question Number : 32 Question Id : 87827039701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following acronyms is incorrectly matched with its expanded form ?
(1) IMPRINT - Impacting Research, INnovation and Technology
2) BHIM - BHarat Interface for Money

3) UMANG - Unified Mobile Application for New age Generation
4) PayTM - Pay Through Mobile

(
(
(
Options:
878270155965. 1
878270155966. 2
878270155967. 3

878270155968. 4



Question Number : 32 Question Id : 87827039701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafed 4 § sm-49 dferaer #1359 foga ¥ 9 faem Tod €2
(1) 2w (IMPRINT) — SR @ gHrewH Ug s

) o (BHIM) — YRd 32059 BR A

) SHT (UMANG) — FfTHIEE HieTgel Terhym %R =J-Ts SReH
) YeH (PayTM) — ¥ ¢ HEmEA

Options :

878270155965. 1

878270155966. 2

878270155967. 3

878270155968. 4

Question Number : 33 Question Id : 87827039702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements in the context of digital technnlogies for entertainment :

Statement I :  In virtual reality, images generated from a computer are projected onto real life
objects or surroundings.

Statement Il :  In augmented reality, a simulated environment is created and the physical world
is completely shut out,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options:



8782701559609. 1
878270155970. 2
878270155971. 3

878270155972. 4

Question Number : 33 Question Id : 87827039702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7% ) o fem T § ;oo Wi fefoem eif & g o

T (I): ST ARl H PG T Bl ) oo S /% A A1 ed R JEE
fepe o %

T (1) ; At arfod § ST Tiew S o o § o i SOl w% 9
IE |

I F & e B, 7 fou o fawed § 9 W I T S

(1) FRIIR FAA I T &

() RSN BRI S 59 ¢

(

(

e

) Y [ F E, WA O 11 9
4) ] A T, TR o 1

¥

Options :

878270155969. 1
878270155970. 2
878270155971. 3

878270155972. 4

Question Number : 34 Question Id : 87827039703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When wa l'dling videos from a web site using streaming teclmology, which of the fnllowing will be
mvolved ?

(A) DNS

(B) FIP

C) IP

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

W () @ and (O

Options :

878270155973. 1

878270155974. 2

878270155975. 3

878270155976. 4

Question Number : 34 Question Id : 87827039703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TR o1 ST R g0 deree B fafed San wg frefefen § @ @9 @ wive §2
(A) STy

(B) A

Q) Y

4 feu U fosredi | 6 W& S 9 I

(1) 9aa (A) & (B)
(2) FFa (A) 3R (C)
() @A (B) M (C)
@ () @ RQ)

) (
) (
)
4)

Options :
878270155973. 1
878270155974. 2



878270155975. 3

878270155976. 4

Question Number : 35 Question Id : 87827039704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List - II
(Question) (Answer)

(A) How many ones are there in the binary representation (I) 13
of the decimal number 512 ?

(B) If1KiloByte = 2* bits, then what is the value of x ? (I) 20

(C) What hexadecimal value is obtained when the two (II) 1
hexadecimal digits A and B are added together ?

(D) What is the denary (base 10) value of the binary (IV) 15
number 00010100 ?

Choose the correct answer from the options given below :

(1) (AL), BHLV), (O-(0), D)-(I)

(2) (AL, (B)-(I), (C-(1V), (D))
(3)  (A)MI), (B}-(IIL), (C}-(II), (D)-(IV)
(4) (AN, B)-(1), (CHIV), (DHI)
Options :

878270155977. 1
878270155978. 2
878270155979. 3

878270155980. 4

Question Number : 35 Question Id : 87827039704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 9 Eit-11 1 fifer i

lt-1 -1

T £ty
(A) TWEE H&A 512 & fg-onyr wlemm W fFa R wEE? () 13
(B) 1 feralarze = 2 faeq &, @ x &1 WF 1 & ? (I 20
(C) @ 3 UISY-SH FeAl A 3R B I WY SEl (I 1

o A e 2 e e e 1 e A
(D) fgamar F&n 00010100 1 g9k A9 A F=EM? (V) 15
A1 fou 7o foeredl § @ W@ SO A 99 Ff

(1) (AR, (B)LV), (CHD), (DHI)
(2 (A, B)-1), (C-(1V), (D)-{10)
() (I), (B)-(I1I), (C)-(LT), (D)-(IV)
( ( ()

(A
(A
4) (A, (B)-(D), (CHIV), (DI

)
A)-
Options :
878270155977. 1
878270155978. 2
878270155979. 3

878270155980. 4

Question Number : 36 Question Id : 87827039705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In air pollution, oxides of nitrogen (NOx) include :

(A) Nitric oxide

(B) Nitrous oxide

(C) Nitrogen dioxide

(D) Di-nitrogen trioxide

(E) Di-nitrogen penta oxide

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(@ (A)and (C) Only
(3) (B), (C) and (D) Only
@) (D)and (E) Only

Options:

878270155981. 1
878270155982. 2
878270155983. 3

878270155984. 4

Question Number : 36 Question Id : 87827039705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST JEUO H, eSS & SfEEEEd (NOx) # wfha €
(A) TEfeF HAlaHrEe

(B) TEZH SRS

(C) EEISH SReAES

(D) SEIEISE TR RS

(E) STE-TiEge el SRS

< feu T fasedi § 9 War SO o 999 FIfT
(1) &aa (A), (B) 3R (C)

(2) FaE (A) 3R (C)
(3) & (B), (O) iR (D)
(4) %9 (D) R (E)
Options :

878270155981. 1
878270155982. 2
878270155983. 3

878270155984. 4

Question Number : 37 Question Id : 87827039706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Increasingly, photovoltaic panels are being used to supplement electrical energy
from the power grid.

Statement I :  The compatibility of photovoltaic panels with power grid is also because it produces
Direct Current (DC).

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270155985. 1
878270155986. 2
878270155987. 3
878270155988. 4

Question Number : 37 Question Id : 87827039706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 3 FA UM E

TR (1) OIS ¥ o 59 6 SR o o ) e T o 9w W 9 2 1 W &

FUR (I1) : T ire o T W v S v gefene o € i T fom em () T
kS

I Fo o e, 3 fou T feeredt # ¥ Wl S T i

1) YR 13 BRI 3 7§

) YR 1 3R R 11 G e §

) W1 T €, T w11 5 ¢

4) HIR 1S €, TR KO ¢

=]

(
(
(
(

Options:

878270155985. 1
878270155986. 2
878270155987. 3

878270155988. 4

Question Number : 38 Question Id : 87827039707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Rising nutrient levels in a lake change the numbers and types of biota present
there.

Statement I ; Eutmphic lakes non:na]l}F have clear water and contain little biomass.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270155989. 1

878270155990. 2

878270155991. 3

878270155992. 4

Question Number : 38 Question Id : 87827039707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%@Wﬁ,’qw%:

FF (1) forel e o o irwer T @ S Sufeed e # g o YR it i g
O (IT) : T G Sl A e T S afew A H Sa- el (A) 8§
IR o % e §, A fou T fored # F @ wee T At

(1) R 1SR BT T §

(2) TR R LT 9 €
(3) FUTIEA S, WA F I 5 &
(4) YT HE €, ol HOT I T &
Options :

8782701559809. 1

878270155990. 2

878270155991. 3



878270155992. 4

Question Number : 39 Question Id : 87827039708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  The detrimental impacts of air pnllution are not limited to human health 0111}!.

Statement I :  Fluorine emitted in the air from various industrial processes has signi[icant
phytotoxicological effects.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270155993. 1

878270155994. 2

878270155995. 3

878270155996. 4

Question Number : 39 Question Id : 87827039708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T4 FARUME::

T (1) : 9T TSI 3 GG FIH WA 7 @ Wi T 2 ¢

T (1) : a1 ¥ fofer slvenfives whmaner @ feret e o ey TEY SfaeRTA F4TE 2 €|
SIS oA % ofTei H, e fou T foedt # 4 W S A S

(1) R 1 3R R 113 T

(2) R 1 AR HeR 11 TF o ¢
(3) U 1 H 2, olfe o I A9 &
(4) U1 A €, ¥AfeRT RO T 2
Options:

878270155993. 1

878270155994, 2

878270155995. 3

878270155996. 4

Question Number : 40 Question Id : 87827039709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(Hazard related term) (Description)
(A) Risk (I)  Actions to mitigate losses
(B) Exposure (I)  Frequency of events causing losses
(C) Vulnerability (II) Magnitude of population and structure at risk
(D) Response (IV) Degree of preparedness
Choose the correct answer from the options given below :
(1) (A, ()(lﬂ) (C-LV), (D)
(2) (A, (B)-(1D), (©-LV), (D)}-0)
() (AR, ( )(UD (©-(l), (D)-(IV)
(4)  (AMI), (B}, (©)-{L), (DHLV)
Options:

878270155997. 1



878270155998. 2
878270155999. 3

878270156000. 4

Question Number : 40 Question Id : 87827039709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i1 9 Geft-11 1 e i
eI G-I
(v et ug) (i)
(A) TEw () THEH H FA F F fo Fare
(B) IR () TS T Tl SIS 1 TRaR
(C) ¥ (II) SHfEm Ja Srrel S G= i 9w
(D) 3R (IV) ARt i w
el feu 0 foeredl H § |E I 1 957 HifC ;
(1) (AR, B)-I), [©)-IV), (D)-1)
(2) (A, B)-IT), ©)-{IV), (D)-0)
(3) (AN, B)-(L), ©)-1), (D)-1V)
(4) (A, (B)ID), (©)-I), (D)-(V)
Options :

878270155997. 1
878270155998. 2
878270155999. 3
878270156000. 4

Question Number : 41 Question Id : 87827039710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The policy of privatisation of higher education began with the introduction of :
(1) Fourth five year plan

(2)  Sixth five year plan

(3) Eighth five year plan

(4) Tenth five year plan

Options:

878270156001. 1

878270156002. 2

878270156003. 3

878270156004. 4

Question Number : 41 Question Id : 87827039710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

=a foen % fsfierr &t ifa form s & 9% 89 | ey =i mé 2
(1) =iefi deedtE Fe

(2) BB T A

(3) edl g=Edt A

(4) THE gEEUE A
Options :

878270156001. 1
878270156002. 2
878270156003. 3

878270156004. 4

Question Number : 42 Question Id : 87827039711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Science education in India was first started in Calcutta in 1817 at :
(I) Surendranath college

(2)  Ashutosh Mukherjee college
(3) St Xavier college

(4) Hindu college

Options:

878270156005. 1
878270156006. 2
878270156007. 3

878270156008. 4

Question Number : 42 Question Id : 87827039711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wﬁﬁaﬂﬁﬁmﬁuwaﬁwl?ﬁw Y g ieret H Y& & off?

(2) ST TG Hc
(3) He SR Hiers

(4) fog #cs

Options :

878270156005. 1
878270156006. 2
878270156007. 3

878270156008. 4

Question Number : 43 Question Id : 87827039712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The idea of a national education system in India could get ﬁllip with the transfer of control of
education in 1921 to :

(1)  The British Viceroy

(2)

(3)  The Christian missionaries
(4)

[ndian ministers of provinces

European elite
Options:

8782701560009. 1
878270156010. 2

878270156011. 3
878270156012. 4

Question Number : 43 Question Id : 87827039712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

9 1921 5 9Ra ¥ T2 e vgfa o formm i ween fuen & fm o sfafa foe om § e ?
(1) fafen amem

(2) I o RAE
(3) 7 T

(4) 709 % e s
Options :

8782701560009. 1
878270156010. 2
878270156011. 3

878270156012. 4

Question Number : 44 Question Id : 87827039713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following universities were established in the same year of 1916 ?
Bombay University

B) Banaras Hindu University

D) SN.DT Women University

E) Punjab University

(
(
(C) Mysore University
(
(

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(

(2) (B), (C) and (D) Only
(3) (Q), (D) and (E) Only
(4) (A), (C) and (E) Only
Options:

878270156013. 1
878270156014. 2
878270156015. 3

878270156016. 4

Question Number : 44 Question Id : 87827039713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § 9 fea-fe favafaemeai @1 wemom ad 1916 ® & g8 ot ?
(A) il e

(B) ARH feg favafamma

(C) g Ffrafde

(D) W T & & e P

(E) Ysie faveiamme™

= feu 7o fasredi § 9 WE SO 1 =91 FISU
(1) A (A), (B) &R (C)

(2) = (B), (C) ¥R (D)

(3) e (C), (D) ¥R (E)

(4) FE (A), (C) &R (B)

Options :

878270156013. 1

878270156014. 2

878270156015. 3

878270156016. 4

Question Number : 45 Question Id : 87827039714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  [fbig corporate houses establish universities in India, quality professional training
and education can be given to students.

Statement I1: Itis expecl‘ed that universities and institutes established b}f corporate houses will
be world leaders in education.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct



Options :

878270156017. 1
878270156018. 2
878270156019. 3
878270156020. 4

Question Number : 45 Question Id : 87827039714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fﬁﬁﬂ@ﬂfﬂm{%:

T (1) TG TS PRGN T A W ovafared i s Y, 3 Rl 1 o s
yfvrem e fen e % o Her €|

A (1) : 78 0 1 S o6 e SR g1 T fod S et fvafrenera den e e o
fowa # et 27|

TR A o e , Ao fow T et B A Wl S T i

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) U 1T ¢, Wi B 590§

(4) U1 H &, A FAHA &

e ]

Options:

878270156017. 1
878270156018. 2
878270156019. 3
878270156020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701667
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827039715 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.

When faced with danger, animals wam others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and ‘teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,
Whales and dolphins are sometimes called the ‘musicians of the sea’ as birds are of the sky.

Sub questions

Question Number : 46 Question Id : 87827039716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Animals use sounds to :

(A) Advertise teritory

(B) Warn of dangers

(C) Call their mates

(D) Invite their enemies

(E) Inform others about source of food

Choose the correct answer from the options given below :

() (B), (C) and (D) Only

(2) (A), (B) and (C) Only
(3) (A), (B), (C) and (E) Only
(4) (C), (D) and (E) Only

Options :



878270156021. 1
878270156022. 2
878270156023. 3

878270156024. 4

Question Number : 47 Question Id : 87827039717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the various ways in which animals communicate with one another ?
Sr:mg and dance

(

(B) Speech

(C) Signs

(D) Sounds

(E) Words

Choose the correct answer from the options given below :

(1) (C), (D) and (E) Only

() (A), (B) and (E) Only
(3) (A) ( ) ’illd( )Olll}’
(4) (A)and (B) Only
Options :

878270156025. 1
878270156026. 2
878270156027. 3

878270156028. 4

Question Number : 48 Question Id : 87827039718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The musicians of the sky are :
(1) Walruses
(2) Animals

(3) Dolphins
(4) Birds
Options:

878270156029. 1
878270156030. 2
878270156031. 3
878270156032. 4

Question Number : 49 Question Id : 87827039719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Ultrasonic sounds’ are sounds which are :
Liked b}r humans

2

Disliked by humans

=

EZ; Audible to humans
(3)

(4) Inaudible to humans
Options :

878270156033. 1

878270156034. 2
878270156035. 3

878270156036. 4

Question Number : 50 Question Id : 87827039720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Sharks and crocodiles are called the musicians of the sea.
Statement I ; Bab}f birds cannot express their needs.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4)  Statement I is incorrect but Statement II is correct
Options :

878270156037. 1

878270156038. 2

878270156039. 3

878270156040. 4

Question Id : 87827039715 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions



Question Number : 46 Question Id : 87827039716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

u3] %af =1 9T R 389 o fore #d €2

(A) Y- F oI | 2= 991ed o1 SR 24 F foau
(B) W I =l o @ fow

(C) &9 Sfiad Fieft 1 el ok o

(D) 3199 YA HI HAT FA o g

(E) <O &1 95 & € & =i § giad #31 & fau
= fau o fasredi § | WE SOR 1 =9 S
(1) %9 (B), (C) 3R (D)

(2) 9 (A), (B) 3R (Q)

(3) I (A), (B), (C) 3R (E)

(4) 9 (O), (D) 3R (E)

Options :

878270156021. 1

878270156022. 2

878270156023. 3

878270156024. 4

Question Number : 47 Question Id : 87827039717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A GRT T8 © Aa=id e & fafy= ades @ € 2
(A) T SR T

(B) @mf

(C) Hehd

(D) &

(E) =g

4 few U foeredi © | TE IR F =977 FC
(1) %9 (C), (D) ¥R (E)

(2) %9d (A), (B) 3R (E)

(3) #=d (A), (C) ¥R (D)

(4) FAA (A) IR (B)

Options :

878270156025. 1

878270156026. 2

878270156027. 3

878270156028. 4

Question Number : 48 Question Id : 87827039718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I F GIAHEN € ;
(1) H=elH

(2 W

(3) EieEHA

(4) Teff

Options :

878270156029. 1
878270156030. 2

878270156031. 3



878270156032. 4

Question Number : 49 Question Id : 87827039719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘mgen s U st € W
(1) W\ gR 99 1 S ¢ |

(2) TSl ERI 4 Bt

(3) WAl gHI AYHE i Sl € |
(4) HIH BRI 3 FA Bl € |
Options :

878270156033. 1
878270156034. 2
878270156035. 3

878270156036. 4

Question Number : 50 Question Id : 87827039720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?ﬁ%ra“iwfaqw%‘

T (I) : Ik 3R TR g & T Fe 9 ¢ |

HA (1) : Tferdi & TS ST el i SATHeHT Tal FL HHRd ¢ |
IYIH A o el |, A fGu M foreredi § § We I 7 HIf
(1) FITIFR HUT S TA T

(2) AT 1S A 11 T 30 ©

(3) Y1 HH T, Al HAT I 36A 2

(4) HITIHHA B, WAl AT A €

Options:



878270156037. 1
878270156038. 2
878270156039. 3

878270156040. 4

Population Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

878270925
2

Online
Mandatory
92

92

200

Yes

0

1
8782701668
Yes

null

Question Number : 51 Question Id : 87827039721 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT considered as main function of Geographical Information
System (GIS) ?

(1
(2
(3
(

Query

Store

)
) Argument
)
)

Capture
Options:
878270156041. 1
878270156042. 2
878270156043. 3

878270156044. 4

Question Number : 51 Question Id : 87827039721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefefed & | M difoes gam Jomed (S o ©8) = 9@ %@ T8 A0 S ?
(I) 9o/
) HY
) TR
) IR

(2
(3
(4
Options :

878270156041. 1
878270156042. 2
878270156043. 3
878270156044. 4

Question Number : 52 Question Id : 87827039722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Coeftficient of variation is C[rsmputed b}r 5

SD
- x 100
(1) Mean
2
sD
R
ean
Mean
x 100
(3) D
Mean
@ o2
Options:

878270156045. 1
878270156046. 2
878270156047. 3

878270156048. 4

Question Number : 52 Question Id : 87827039722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fareror 1orier Frret o femmrer g sifverfera SaT & 2

(1) il ki X 100
H=q

>

REEAEERE)
HIEH

(2)

; T %100
(%) HTHeh fa=an

e
(4) (Wﬁﬁﬁ?)z

Options :




878270156045. 1
878270156046. 2
878270156047. 3

878270156048. 4

Question Number : 53 Question Id : 87827039723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Type-I error occurs when :

(1) Wereject H if it is True
(2) Wereject H  if it is False
(3) We accept H, if it is True
(4) We accept H | if it is False

Options :

I

878270156049. 1
878270156050. 2
878270156051. 3

878270156052. 4

Question Number : 53 Question Id : 87827039723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Tmp@[ﬂﬁﬁ%ﬁﬂ

1) 9 H, % WFR F ¢, 59 98 9el o 2 |
2) ®H H, o SRR Fd 8, 56 g8 e Bl © |
) B9 H, o WehR Hd ¢, S T8 Hel el ¢ |
) B9 H, ol SR Fd €, 9 Fg Teid ol ¢ |
Options :

878270156049. 1



878270156050. 2
878270156051. 3

878270156052. 4

Question Number : 54 Question Id : 87827039724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relation between mean, median and mode is given by :
(1) Mode = 2 median — 3 mean
(2) Mode = 2 median + 3 mean
(3) Mode = 3 median — 2 mean

)
(4) Mode = 3 median + 2 mean
Options :
878270156053. 1
878270156054. 2
878270156055. 3

878270156056. 4

Question Number : 54 Question Id : 87827039724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HTeA, AifeaeRt 3R agere & o= deay e J feaes gr fean smom 2
(1) “EAF = 2 WIfeTeh — 3 e

(2) wgAF = 2 HIfeFkl + 3 HIEH
(3) WgeTR = 3 WI%aR — 2 H1eA
(4) TEAF = 3 IETH + 2 HIEA

Options:
878270156053. 1

878270156054. 2



878270156055. 3
878270156056. 4

Question Number : 55 Question Id : 87827039725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The difference between the expected value of statistics and the value of the parameter being
estimated 1s called :

(1) Standard error

(2) Bias
(3

(4

Sampling error

)

) Non-sampling error
Options :
878270156057. 1
878270156058. 2

878270156059. 3

878270156060. 4

Question Number : 55 Question Id : 87827039725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T % SThfor 0 3R Wifeash! % STHiTa W & a1 1 7ot ST Heam &

(1) WF% I

(2) @EH

(3) Wi qfe
(4) TR-wiowa e
Options :

878270156057. 1

878270156058. 2



878270156059. 3

878270156060. 4

Question Number : 56 Question Id : 87827039726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the variance of the data is 121 then the standard deviation (SD) is :

1) 121
2 21
(3) 11
4) 12

Options :

878270156061. 1
878270156062. 2
878270156063. 3

878270156064. 4

Question Number : 56 Question Id : 87827039726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

afg €121 =1 990 121 df S121 o 99 foreed 2 ?

{1y 121
(2) 21
(3) 11
(4) 12
Options :

878270156061. 1
878270156062. 2
878270156063. 3

878270156064. 4



Question Number : 57 Question Id : 87827039727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Number of deaths among children below 28 da}rs of age is called :
(1) Neonatal mortality

(2) Postneonatal mortality

(3) Infant mortality

(4) Child mortality

Options :

878270156065. 1

878270156066. 2

878270156067. 3

878270156068. 4

Question Number : 57 Question Id : 87827039727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feu T T~ STaUe % SR 99 % 28 fofl § 0 a0l i Yo o FHecwl ¢ 2

() TR TR
() R TR
(4) T T
Options:

878270156065. 1
878270156066. 2
878270156067. 3

878270156068. 4



Question Number : 58 Question Id : 87827039728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Where was Medical Certification of Cause of Death (MCCD) scheme introduced first time in
India ?

(1) Pune

(2) Nagpur

(3) Mumbai

(4) Solapur
Options :
878270156069. 1
878270156070. 2
878270156071. 3

878270156072. 4

Question Number : 58 Question Id : 87827039728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

R B veel o Ao Sfeftrhe A HOW o 2 (T T 5 ) A FEl A g o7

1)

(2) TR
() TR
(4) ST
Options :

8782701560609. 1
878270156070. 2
878270156071. 3

878270156072. 4



Question Number : 59 Question Id : 87827039729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following pair of columns of Life Table relates to person-years lived ?
(1) lrand Tx

(2) g,and Tx

(3) Lxand Tx
(4) q,and Lx
Options :
878270156073. 1
878270156074. 2
878270156075. 3

878270156076. 4

Question Number : 59 Question Id : 87827039729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e & 27 1 Hfe o7 (-2 feree) ) et e 5 7w i ()
O A &
(1) lr#mTy
() q #Tx
(3) Lr#RTy
4 qomLy
Options:
878270156073. 1
878270156074. 2
878270156075. 3

878270156076. 4



Question Number : 60 Question Id : 87827039730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT the migration flow ?
(1) Inter-district migration

(2) Inter-state migration

(3) Intra-district migration

(4) Commuting between two places
Options :

878270156077. 1

878270156078. 2

878270156079. 3

878270156080. 4

Question Number : 60 Question Id : 87827039730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g § 9 9 Y9e 99 98 © 2
(1) e Tsen gemeA

(2) AT T JeTHA
(3)  d: TS garad
(4) < TIFE]F S ST

Options :

878270156077. 1
878270156078. 2
878270156079. 3

878270156080. 4

Question Number : 61 Question Id : 87827039731 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following has propounded the law of the primate city ?
(1) Gosta Carlson

(2) M. Jefferson
(3) Homer Hoyt
(4) P.J. Clark

Options :

878270156081. 1
878270156082. 2
878270156083. 3

878270156084. 4

Question Number : 61 Question Id : 87827039731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e § 9§ fora g et 1 fagia fean &2

(1) T s

(2) UH, SHLEA

(3) BRI

(4) O 9. FWEH
Options:

878270156081. 1
878270156082. 2
878270156083. 3

878270156084. 4

Question Number : 62 Question Id : 87827039732 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is the main reason for migration among females according to Census of India, 2011 ?
(1) Education
2

(2) Marriage
(3) Employment/work
S

4)  Moved with household

Options :

878270156085. 1
878270156086. 2
878270156087. 3
878270156088. 4

Question Number : 62 Question Id : 87827039732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2011 W %1 SIUAT o AR Wieelst & Jared o fou 9e7 10 & ¢ ?

(1) Toan

(2) foam®

(3) TSV

(4) °RER % Y A
Options :

878270156085. 1
878270156086. 2
878270156087. 3

878270156088. 4

Question Number : 63 Question Id : 87827039733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

What is the proportion of Scheduled Castes (SC) population as per Census of India, 2011 ?
(1) 15.2%
2) 15.6%

) 16.6%
4) 16.2%

(
(3
(
Options :

878270156089. 1
878270156090. 2
878270156091. 3

878270156092. 4

Question Number : 63 Question Id : 87827039733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2011 i SFIIAI % HTGN g Sfa (T8 6) SHEen 1 e ¥ e fewm g7

(1) 15.2%
(2) 15.6%
(3) 16.6%
(4) 16.2%
Options :

878270156089. 1
878270156090. 2
878270156091. 3

878270156092. 4

Question Number : 64 Question Id : 87827039734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following tribe has the highest percentage of population according to Census of
India, 2011 ?
(1) Santals
(2
§
(4

) Gonds
) Bhils
)

Oraon

]

Options:

878270156093. 1
878270156094. 2
878270156095. 3

878270156096. 4

Question Number : 64 Question Id : 87827039734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HEATH TR T M 1 2011 1 ST % AR 9RG ¥ Gad 9€) Seitd w9 ¢

(1) §<a
@ s
(3)
(4) 3
Options :

878270156093. 1
878270156094. 2
878270156095. 3

878270156096. 4

Question Number : 65 Question Id : 87827039735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Census of India 2011, what is the estimated population of transgenders ?
(1)  0.49 million

(2)  0.45 million

(3)  0.62 million

(4) 0.51 million

Options:

878270156097. 1

878270156098. 2

878270156099. 3

878270156100. 4

Question Number : 65 Question Id : 87827039735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IRA 1 2011 STHE & SR, TrESTel 00 SHIE # ¢ 2

(1) 0.49 faferz=
(2) 045 fafeza
(3) 0.62 faferaa
(4) 0.51 faferT=
Options :

878270156097. 1
878270156098. 2
878270156099. 3
878270156100. 4

Question Number : 66 Question Id : 87827039736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is NOT a micronutrient deficiency under RMNCHA programme ?
(1) Vitamin A

(2) Iron
(3) lodine
(4)

4)  Calcium

Options:

878270156101. 1
878270156102. 2
878270156103. 3

878270156104. 4

Question Number : 66 Question Id : 87827039736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fferfign 5 § % &% T T & T U'(RMNCHA ) SR o Siad 957 s T ¢ /

(1) i A
() B
3) e
(4) Fargm
Options :

878270156101. 1
878270156102. 2
878270156103. 3

878270156104. 4

Question Number : 67 Question Id : 87827039737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The 42! amendment of the Indian constitution (1976) has include “population control and family
planning” in which of the following ?
(1) Concurrent list

(2) Central List

(3) State list

(4) Panchayat Raj Institution
Options:

878270156105. 1
878270156106. 2
878270156107. 3

878270156108. 4

Question Number : 67 Question Id : 87827039737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

W oo (1976) o 42 o T H e e SR uiten e @ e fee i
fepen T e ?

Options :

878270156105. 1
878270156106. 2
878270156107. 3

878270156108. 4

Question Number : 68 Question Id : 87827039738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

If 10 people die in a year out of 1000 population what will be the crude death rate in that year ?
10

Options :

878270156109. 1
878270156110. 2
878270156111. 3

878270156112. 4

Question Number : 68 Question Id : 87827039738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

.

g o § 1000 e § § 10 M W @ @ 39 o # swifer geg <X vl 1000 0 BT 2
(1) 10

Options :

878270156109. 1
878270156110. 2
878270156111. 3

878270156112. 4

Question Number : 69 Question Id : 87827039739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following state is NOT listed as an Empowered Action Groups (EAG) state ?
(1)  Uttar Pradesh

(2) Mizoram

(3) Chhattisgarh

(4) Jharkhand

Options:

878270156113. 1

878270156114. 2

878270156115. 3

878270156116. 4

Question Number : 69 Question Id : 87827039739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafes & § =9 o v afvsfa gra @ o9e (2 1) 78§ €2

(1) SWEve
(2) fosie
(3) BETE
(4) ¥RETg
Options :

878270156113. 1
878270156114. 2
878270156115. 3
878270156116. 4

Question Number : 70 Question Id : 87827039740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is measured by child-women ratio ?
(1) Fertlity

(2) Mortality

(3) Migration

(4) Family Planning
Options:

878270156117. 1
878270156118. 2
878270156119. 3

878270156120. 4

Question Number : 70 Question Id : 87827039740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefafiad § 4 fraeh ara-afee U™ g/ Jegic fohar S € 7
(1) ¥SH

(2) T

(3) Ha™EA

(4) 9fEE A
Options :

878270156117. 1
878270156118. 2
878270156119. 3
878270156120. 4

Question Number : 71 Question Id : 87827039741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to World Health Organisation (WHO) infertility rate in India is estimated between :
(1) 39%-16.8%

Q) 51%-17.2%
() 104% - 155%
(@) 03%-103%

Options:

878270156121. 1
878270156122. 2
878270156123. 3
878270156124. 4

Question Number : 71 Question Id : 87827039741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forve T HA (55 U9 40) % SRR A § e o Fe @ feeh o o 1 T R
(1) 3.9%-16.8%
Q) 51%-17.2%
(3) 10.4% - 15.5%
(4) 03%-10.3%
Options :
878270156121. 1
878270156122. 2
878270156123. 3

878270156124. 4

Question Number : 72 Question Id : 87827039742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which stage of Demographic Transition is characterised by a low birth rate and low death rate ?
(I) Fifth stage
2)  Third stage

(
(3
(

)
3)  Fourth stage
)

4)  Second stage

Options:

878270156125. 1
878270156126. 2
878270156127.3

878270156128. 4

Question Number : 72 Question Id : 87827039742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SRR HFH0 R G =X 5 S S SR e g 9t g Secfed €7

(1) EEC I
(2) EY =
(3) e =R
(4) T
Options :

878270156125. 1
878270156126. 2
878270156127. 3

878270156128. 4

Question Number : 73 Question Id : 87827039743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which marital status is NOT included in Census of India, 2011 ?
(1) Divorced

(2) Separated

(3) Re-married

(4) Never married
Options:
878270156129. 1
878270156130. 2
878270156131. 3

878270156132. 4

Question Number : 73 Question Id : 87827039743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WRA 1 2011 F1 S0N | 1 O Fanfes feufs grfea & &7

(1) Th3IaT

(2) 9IHpd

(3) YA: foame

(4) T ISR TE
Options :

878270156129. 1
878270156130. 2
878270156131. 3

878270156132. 4

Question Number : 74 Question Id : 87827039744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to NFHS-5, which five states have above replacement level fertility rate (TFR more than
21) 7
(I) Bihar, Uttar Pradesh, [harkhand, West Bengal, Punjab

(2) Bihar, Uttar Pradesh, Haryana, Manipur, Jharkhand
(3) Bihar, Meghalaya, Utter Pradesh, Punjab, Jharkhand
(4) Bihar, Meghalaya, Uttar Pradesh, Jharkhand, Manipur

Options:

878270156133. 1
878270156134. 2
878270156135. 3

878270156136. 4

Question Number : 74 Question Id : 87827039744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T UF U9 U85 (NFHS5)  SFR f T oo - o 3om 2 o € (3 1% om
(TRF)21 § ffep) |

Options :

878270156133. 1
878270156134. 2
878270156135. 3
878270156136. 4

Question Number : 75 Question Id : 87827039745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

According to Census of India 2011, what proportion of total pnpulali{m is disabled ?
(1) 2.11%

(2) 2.21%

(3) 2.31%

(4) 2.41%
Options :
878270156137. 1
878270156138. 2
878270156139. 3

878270156140. 4

Question Number : 75 Question Id : 87827039745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR = 2011 SATIAT F STIER, Fa SHEE | fesi o1 o1 feed & 2

(1) 2.11%
(2) 2.21%
(3) 2.31%
4) 2.41%
Options :

878270156137. 1
878270156138. 2
878270156139. 3

878270156140. 4

Question Number : 76 Question Id : 87827039746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which round of NSSO focused on social consumption of education and health ?
(1) 69 Round

(2) 70% Round

(3) 71° Round

(4) 72" Round

Options:

878270156141. 1

878270156142. 2

878270156143. 3

878270156144. 4

Question Number : 76 Question Id : 87827039746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

NSSO(TH TH TH &) F1 &M T T3-S ey 817 Wreg & grfses 394 T g 87

(1) 6974 e
(2) 70 E|RIEES
(3) 71 E|RIEES
4 72 EIRIGES
Options :

878270156141. 1
878270156142. 2
878270156143. 3
878270156144. 4

Question Number : 77 Question Id : 87827039747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following agency publishes the Gender Development Index (GDI) ?
(1)  United Nations
2

(2)  World Health Organisation
(3
{

)
) United Nations Development Programme
) World Bank

=y

Options:

878270156145. 1
878270156146. 2
878270156147.3

878270156148. 4

Question Number : 77 Question Id : 87827039747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR fershre gerepier (S €t o1 fofg Toid BT WeRra fofen e &2
(1) HIF T

(2) fove e Gie
(3) HE g fere dmm
(4) fava s

Options :

878270156145. 1
878270156146. 2
878270156147. 3

878270156148. 4

Question Number : 78 Question Id : 87827039748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is used to calculate the index of ageing ratio ?
(I) population in 60 + age to population under 15 years

(2) population in 60+ age to population in 15-59 years
(3) population under 15 years to population in 60 + age
(4) population in 15-39 years to population in 60+ age

Options:

878270156149. 1
878270156150. 2
878270156151. 3

878270156152. 4

Question Number : 78 Question Id : 87827039748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

ffiad 5 § forarar ST S0 S o Goehi i 31 e o forg foran s @ 7
60+ 3 H TEEA §, 15 94 § FH THEE

1)

(2)  60+3T9 H SEEA ¥, 15-59 901 § FH SHGE
(3) 15900 | H SHEEN 4, 60+ 7Y H FEE
(4) 1559 U1 § FH THGEA G, 60+ 7Y ¥ G
Options :

878270156149. 1
878270156150. 2
878270156151. 3
878270156152. 4

Question Number : 79 Question Id : 87827039749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In Regression Analysis, if a quantitative variable has 'n’ categories, one can introduce :
) Only n+1 dummy variables
) Only n—1 dummy variables

3)  Only n dummy variables
) Only 2n dummy variables

Options:

878270156153. 1

878270156154. 2

878270156155. 3

878270156156. 4

Question Number : 79 Question Id : 87827039749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

() % n+ 19 R (3 o)
) 490 n-1 FH H
)
)

(g

-

WJ}WW

(
&
(4) e 2n TEH T

H
Options :

878270156153. 1
878270156154. 2
878270156155. 3

878270156156. 4

Question Number : 80 Question Id : 87827039750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which agency publishes the Sample Registration System (SRS) reports in India ?
(I) The office of the Registrar General, India

(2)  The office of Census Commissioner of India
(3) Ministry of Human Resource Development, India
(4) The office of the Sample Registration System, India

Options:

878270156157. 1
878270156158. 2
878270156159. 3
878270156160. 4

Question Number : 80 Question Id : 87827039750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A ¥ wfees Tsfier gumet (SRS) frare ferg et g et &t e € 2
(1) YR 1 LR A FrEad

(2) 9RA N SHTUH FHTR FE@d

(3) YR K1 A HHA foRRm HaAd

(4) WG o1 Yiaeyl YSiisho Jurrell e

Options :

878270156157. 1
878270156158. 2
878270156159. 3
878270156160. 4

Question Number : 81 Question Id : 87827039751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which year, the epidemiological transition theory was first proposed by Abdel R. Omrain ?
(1) 1971
(2} 1972
(3) 1970
(4) 1973
Options:
878270156161. 1
878270156162. 2
878270156163. 3

878270156164. 4

Question Number : 81 Question Id : 87827039751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1971

) 1972

) 1970

) 1973
Options :
878270156161. 1
878270156162. 2
878270156163. 3
878270156164. 4

Question Number : 82 Question Id : 87827039752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The situation when the natural population increase 1s subtracted from total change in populalion
during a particular duration is called :
(I) In-migration

2

Oulamigration

(
(3
(

)
3)  Nel-migration
4

Talal-mjgral'inn

Options:

878270156165. 1
878270156166. 2
878270156167. 3
878270156168. 4

Question Number : 82 Question Id : 87827039752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156165. 1
878270156166. 2
878270156167. 3
878270156168. 4

Question Number : 83 Question Id : 87827039753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

What is meant by the term “ecological foot print’ ?
(1) Increase in methane gas with industrialized methods of raising animals for food.

(2) Increase in green house gas emission with landuse change
(3) Increase in methane gas with mechanization of harvesting
(4) Increase in green house gas emission with industrial activities

Options :

878270156169. 1
878270156170. 2
878270156171. 3

878270156172. 4

Question Number : 83 Question Id : 87827039753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156169. 1
878270156170. 2
878270156171. 3

878270156172. 4
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Which among the following term is used to explain the highest average daily nutrient intake level
as recommended to almost all individuals ?

(1)
(2)
(3)  Estimated average requh‘emenl
(4)

Recommended nutrient intake
Upper nutrient level

Adequate intake

Options:

878270156173. 1
878270156174. 2
878270156175. 3

878270156176. 4

Question Number : 84 Question Id : 87827039754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156173. 1
878270156174. 2
878270156175. 3

878270156176. 4

Question Number : 85 Question Id : 87827039755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following method is used for adjustment of data from dual recording system ?
(1)  Reverse survivl method

(2) P/F ratio method

(3) Rele’s method

(4)  Chandrasekaran - Deming method
Options :

878270156177. 1

878270156178. 2

878270156179. 3

878270156180. 4

Question Number : 85 Question Id : 87827039755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156177. 1
878270156178. 2
878270156179. 3

878270156180. 4
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Birth interval between the survey point and the following birth is called as :
(1) Closed Birth interval

Open Birth interval

Forward Birth interval

Backward Birth interval

T —— | —
He= 2 2
e Mt ™

Options:

878270156181. 1
878270156182. 2
878270156183. 3

878270156184. 4

Question Number : 86 Question Id : 87827039756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156181. 1
878270156182. 2
878270156183. 3
878270156184. 4

Question Number : 87 Question Id : 87827039757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The mean of the age - specific fertility distribution of a country is 0.70. The value of Gross
Reproduction Rate (GRR) for the same country is 3.50. Find out the value of Net Reproduction
Rate (NRR) :

(1) 245

(2) 3.0
(3) 345
£
Options:
878270156185. 1
878270156186. 2
878270156187. 3

878270156188. 4

Question Number : 87 Question Id : 87827039757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 245

(2) 350

(3) 345

(4) 4.93
Options :
878270156185. 1
878270156186. 2
878270156187. 3

878270156188. 4

Question Number : 88 Question Id : 87827039758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

How do you define Incidence rate of a disease ?

(I)  The rate of sickness and disability existing within a population

(2)  The total number of cases of a particular health condition within a population at a particular
point of time,

(3)  The probability of the occurrence of a particular health condition within a population
(4)  The rate at which the onset of new cases of a particular health condition occurs
Options :

878270156189. 1

878270156190. 2

878270156191. 3

878270156192. 4

Question Number : 88 Question Id : 87827039758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156189. 1

878270156190. 2

878270156191. 3

878270156192. 4

Question Number : 89 Question Id : 87827039759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following correctly describes the criteria for high prevalence group of states for HIV
infection in India ?

(I) = 5% prevalence among high risk population and >1% prevalence in Antenatal women

2) > 3% prevalence among high risk population and >1% prevalence in Antenatal women

W

(

(3) 2 5% prevalence among high risk population and >2% prevalence in Antenatal women
(4) = 5% prevalence among high risk population as well as Antenatal women

Options :

878270156193. 1
878270156194. 2
878270156195. 3

878270156196. 4

Question Number : 89 Question Id : 87827039759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270156193 1
878270156194, 2
878270156195. 3

878270156196. 4

Question Number : 90 Question Id : 87827039760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following index has digit preference of ‘0" and 5" ?
(1) Myer’s Index

(2)  United joint score

(3) Wheple's Index

(4) Age-sex ratio score
Options :

878270156197. 1

878270156198. 2

878270156199. 3

878270156200. 4

Question Number : 90 Question Id : 87827039760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156197. 1
878270156198. 2
878270156199. 3

878270156200. 4
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Correct Marks : 2 Wrong Marks : 0

The main sources of error in demographic data generally are :
(A) Coverage error

(B) Content error

(C) Sampling error

(D) Non-sampling error

Choose the correct answer from the options given below :
(1)  (A), (D) only

() (A), (B) only

(3) (A), (C) only

(4) (O, (D) only

Options :

878270156201. 1

878270156202. 2

878270156203. 3

878270156204. 4

Question Number : 91 Question Id : 87827039761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156201. 1



878270156202. 2
878270156203. 3

878270156204. 4

Question Number : 92 Question Id : 87827039762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The monthly income (in Rs 1000) is given in the following two different living arrangements of 16
households in four clusters. The two situations are given below :

Situation - A Situation - B
Stratumy | Monthly income of Stratuny| Monthly income of
Cluster | households Cluster | households
1 |5|6|8]4 1 [ 5]20]5]%
2 20(2(15]3 i 6 (25|60 8
3 55 | 60 | 50 | 45 3 8 (151501 7%
1 [95(80 7] 485 T | 230185 %

In which situation, stratified and cluster sampling would be preferred ?
(A) Stratified sampling in situation - A

(B) Cluster sampling in situation - B

(C) Stratified sampling in situation - B

(D) Cluster sampling in situation - A

Choose the correct answer from the options given below :

(1) (C), (D) only

2)  (A), (B) only

3) (A),(B), (C) only

4)  (A), (B), (D) only

Options :

@ |
G
I

878270156205. 1
878270156206. 2
878270156207. 3
878270156208. 4



Question Number : 92 Question Id : 87827039762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270156205. 1
878270156206. 2
878270156207.3

878270156208. 4

Question Number : 93 Question Id : 87827039763 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the fnllnwmg are elements of spalial nverla}rs ?

(A) Spatial auto - correlation

(B) Buffer
(C) Union
(D) Clips

(E) Downscaling

Choose the correct answer from the options given below :
(D) (B), (©), (D) only

() (A), (B), (E) only

(3) (B), (D), (E) only

(4) (©), (D), (E) only

Options :

878270156209. 1

878270156210. 2

878270156211. 3

878270156212. 4

Question Number : 93 Question Id : 87827039763 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) FA (C), (D), (E)

Options :

878270156209. 1
878270156210. 2
878270156211. 3

878270156212. 4
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What are the methods of Probability Sampling ?
(A) Simple Random

(B) Stratified

(C) Probability Proportion to Size (PPS)

(D) Systematic

(E) Purposive

Choose the correct answer from the options given below :
(1) (A), (B), (C), (E) only

(2)  (A), (B), (C), (D) only

(3)  (A), (B), (D), (E) only

4) (B), (O), (D), (E) only

—

Options:

878270156213. 1
878270156214. 2
878270156215. 3
878270156216. 4
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A feu Ty ferpedi ® 9 @& ST 1 =94 HIf
(1) %9 (A), (B), (C), (E)

(2) %99 (A), (B), (O), (D)

(3) ad (A), (B), (D), (E)

4) FFe (B), (O), (D), (E)

Options :

878270156213. 1

878270156214. 2

878270156215. 3

878270156216. 4
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List the maior initiatives which were started as part of the National Rural Health Mission

ASHA
The VlJlabe Health Sanitation and Nutrition Commuttees

) Medical Termination of Pregnancy

B

3.8

) Patient Welfare Committee

(
(A)
(
(
(D
(E) Anganwadi

Choose the correct answer from the oplinns giwen below :

(1) (©), (D) (E) only

() (B), (D), (E) only
() (&), (B), (D) only
() (8), (©), (D) only
Options:

878270156217. 1
878270156218. 2
878270156219. 3

878270156220. 4
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Options :
878270156217. 1
878270156218. 2
878270156219. 3

878270156220. 4
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Who are the food security agents in India ?
(A) Farmers

(B) Cultivators

(C) Agricultural Labour

(D) Consumer

(E) Land

Choose the correct answer from the options given below :
(1) (A), (B), (O), (E) only

() (A), (B), (D), (E) only

(3) (B), (), (D), (E) only

(4)  (A), (B), (O), (D) only

Options:
878270156221. 1
878270156222. 2

878270156223. 3
878270156224. 4

Question Number : 96 Question Id : 87827039766 Question Type : MCQ Option Shuffling : No
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(A) fFum

(B) Wit

(C) Ffuuf
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(1) % (A), (B), (C), (E)

(2) %99 (A), (B), (D), (E)

(3) % (B), (C), (D), (E)
(4) &9 (A), (B), (O), (D)
Options :

878270156221. 1

878270156222. 2

878270156223. 3

878270156224. 4
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Sustainable Development Goals (SDG) include the following goals :
Zero hunger

(A)

(B) Good health and well-being
(C) Education for all

(D) Gender equality

(E

Choose the correct answer from the nplmna gwen below :

Clean environment

T

(1) (A), (B), (D) only
(2)  (B), (©), (D) only
(3)  (©), (D) (E) only
(4)  (A), (D), (E) only
Options:

878270156225. 1
878270156226. 2
878270156227. 3

878270156228. 4

Question Number : 97 Question Id : 87827039767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) %9 (A), (B), (D)

(2) %= (B), (O), (D)

(3) ad (), (D), (E)

(4) %A (A), (D), ()

Options :

878270156225. 1

878270156226. 2

878270156227. 3

878270156228. 4
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Which among the following are components of the impact formula proposed by Ehirlich (1990) to
examine the role of population in environmental degradation ?

(A)  Affluence
(B) Resource Depletion

(C) Population

(D) Technology

(E) Industrial Activities

Choose the correct answer from the options given below :

(1) (), (C) (D) only

(2 (), (C), (E) only
(3) (&) (), (D) only
(4)  (4),(C), (E) only
Options:

878270156229. 1
878270156230. 2
878270156231. 3
878270156232. 4

Question Number : 98 Question Id : 87827039768 Question Type : MCQ Option Shuffling : No
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Options:

878270156229. 1
878270156230. 2
878270156231. 3
878270156232. 4
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Which among the following describe the characteristics of eco-city model of sustainable
urbanisation ?

(A) Self sustaining

(B) Resilient building structure

(C) Minimum waste generation

(D) Expensive landscaping

(E) Exclusion of the poor

Choose the correct answer from the options giv en below :

(1) (A), (®) © @) E)

() (A),(B), (C), (D) only
B) (A) () (©only
(4) (A), (B) only
Options :

878270156233. 1
878270156234. 2
878270156235. 3

878270156236. 4

Question Number : 99 Question Id : 87827039769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e & 1 3e-fi) wfeer 1 i e (Frde) fau # e #37 ¢ 7
(A) -4
(B) IR Wedt Hea

A e o ol o W T A T
(1) (A),®) ), D) ()

() 9 (A), (), (C), (D
() @ (A), (8),
(4) @ (A) (B
Options:
878270156233. 1
878270156234. 2
878270156235. 3

878270156236. 4
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Which of the following methods are used for an Indirect estimation of migration ?
(A) Migration matrix
(B) Census Survival Ratio

)
)

E) Stream of migration

Vital statistics methods

Migratinn Rate method

(€
(D
(

Choose the correct answer from the Dptlnns glven below :

(1) (A)only

(2)  (A),(B), (C) only
(3) (), (C)only

(4) (&), (B), (E) only



Options :

878270156237. 1
878270156238. 2
878270156239. 3

878270156240. 4

Question Number : 100 Question Id : 87827039770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefferfiad & & M i 9o (FH) e Taom e % fog Jam fom s & 2
(A) FSSH HET

(B) IO STl S

(C) &fer Hrezh g

(D) SofsH <X gfskan

(E) oS H 40

A feu o fomredi # 9 WE T F T9H BT ;
(1) & (A)

(2) %@ (A), (B) (C)

(3) e (B), ()

(4) % (4) (B) (E)

Options :

878270156237. 1
878270156238. 2
878270156239. 3

878270156240. 4

Question Number : 101 Question Id : 87827039771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which categories of migrants among the following form the diaspora cammunity ?
(A) Long term international migrant

(B) Permanent international migrant

(C) Refugees

(D) Internally displaced population

(E) Cyclically mobile

Choose the correct answer from the options given below :

(1) (A),(B) (O only

( (B), (C), (D) only
(3) (A), (B) only

(4 () () only
Options :

878270156241. 1
878270156242. 2
878270156243. 3

878270156244. 4

Question Number : 101 Question Id : 87827039771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAferfaa & 3 9 o1 WersH TUer YarH Guerd S 2 € ?
(A) =4k 979 & foq SidueE gese

(B) U™ AT Yo

(C) st

(D) aAT=ifeR foreemafd sHEE

(E) shid Tifasirel

== fou o foredi § | W 39 1 =999 e

(1) e (A), (B), (C)

(2) %94 (B), (O), (D)
(3) A (A), (B)
(4) &= (D), (E)
Options :

878270156241. 1
878270156242. 2
878270156243. 3

878270156244. 4

Question Number : 102 Question Id : 87827039772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are major risk factors of maternal mortality in the developing
countries 7

(A) Lack of prenatal care

(B) Non-institutional delivery

(C) Unsafe abortion

(D) Social inequalities

(E) Catastrophic health expenditure

Choose the correct answer from the options given below :

(1) (©) D), E) only

(2 (A) (C), (E) only
() (A), (B), (C) only
() (A). (B), (C), (D) only
Options:

878270156245. 1
878270156246. 2
878270156247. 3
878270156248. 4

Question Number : 102 Question Id : 87827039772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad o 9 & 1 g1 Sifgy fomavia v § 79 Jegel & FR & 2

(B) TR-HEAer g
(C) argLfer e
(D) WIS STHATT
(E) Sl Tareey =5y
9 feu U fopedi # € WE TR F 999 Fif
(1) %9 (C), (D), (E)
() % (A), (O) (B)
(3) A (A), (B), (C)
(4) 99 (A), (B), (C), (D)
Options :

878270156245. 1
878270156246. 2
878270156247. 3

878270156248. 4

Question Number : 103 Question Id : 87827039773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are classified as the cause of death by the World Health Organisation

(WHO) ?

(A) Communicable diseases

(B

(C) Non-Communicable diseases
(

(

——

[njury

D) Not classified
E) Seasonal diseases

Choose the correct answer from the oplions gi\f en below :

(1) (A), (C), (E) only

(@ (A)(C) (D), (E) only
() (A) (B, (C) only
() (A). (B), (C), (D) only
Options:

878270156249. 1
878270156250. 2
878270156251. 3

878270156252. 4

Question Number : 103 Question Id : 87827039773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forver T@men Wed (WHO), TH=: G & FRO &, fa it # entfepa e &2
(A) g=m

(B) =k
(C)
(D) R
(E) wEH
9 feu o fomedi ¥ © W IR &1 T FC
(1) Fad (A), (C) (E)
() Fa (A), (), (D), ()
(3) Fad (A), (B) (O
(4) %9 (A), (B), (C), (D)
Options :

878270156249. 1
878270156250. 2
878270156251. 3

878270156252. 4

Question Number : 104 Question Id : 87827039774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following can be calculated from the data collected for population pyramid ?
(A) Age-sex structure

(B

(C) Dependency Ratio
(

(

——

[nfant mortalit_\; rate

D) Sex structure
E) Life expectancy at birth

Choose the correct answer from the options given below :

(1) (A), (B), (E) only

2 (4),(C), (D) only
(3) (), (), (D) only
(4)  (A), (D), (E) only
Options:

878270156253. 1
878270156254. 2
878270156255. 3
878270156256. 4

Question Number : 104 Question Id : 87827039774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sHEE foufre & aree ¥ frafafas o 9 feget Tom &1 <1 gl © 2
(A) T JT

(B) RYFIR

(C) sgTa ST

(D) ©ifiTeR SC=l

(E) S & §WF Siad — Jem

= fou mu fasredi § 9 W@ IO & 999 Fife0

(1) ¥4 (A), (B), (E)

)

(2) d (4), (©), (D)
(3) a4 (B), (O), (D)
(4) 9 (A), (D), (E)
Options :

878270156253. 1
878270156254. 2
878270156255. 3

878270156256. 4

Question Number : 105 Question Id : 87827039775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the measures of dispersion ?
(A) Mean

(B) Mode

(C) Range

(D) Variance

(E) Standard Deviation

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) only

(2)  (A), (B), (©), (E) only

(3)  (©), (D) (E) only
(4) (©), (B), (D),

Options:

878270156257. 1
878270156258. 2
878270156259. 3

878270156260. 4

Question Number : 105 Question Id : 87827039775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefas H & YO 1 W FE 9 ¥ 2
(A) HEHHA

(B) BT

(C) WM

(D) 9EIOT

(E) WH fa=eH

A= feu 7o fasredi § € 9 39 &1 994 S
(1) %= (A), (B), (O), (D)

(2) %9 (A), (B), (C), (E)

(3) Faw %ad (C), (D), (E)

(4) %9 (C), (B), (D), (E)

Options :

878270156257. 1
878270156258. 2
878270156259. 3
878270156260. 4

Question Number : 106 Question Id : 87827039776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following sources provide information on migration in India ?
(A) Census of India

(B) Sample Registration System

(C) National Sample Survey Organisation (NSSO)

(D) Vital Registration System

Choose the correct answer from the options given below :

(D) (A), (B), (C), (D) only

2) (&), (C)only
(3)  (A), (D) only
(4) (B), (D) only



Options :

878270156261. 1
878270156262. 2
878270156263. 3
878270156264. 4

Question Number : 106 Question Id : 87827039776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafes § 9 $H-9 8 99 § JaGT 1 SEER 981 F © 7
(A) WRA T SFITOMT

(B) wftesl dsfisRor qoumedt (TH IR UH)

(C) Ty faeydl Hel&m Hied

(D) =mEee Ufsgyr fawen

= fou U foskhedi # 9 Hel ST ol F9 HifT :

(1) = (A), (B), (O), (D)
(2) = (A), ()

(3) ad (A), (D)

(4) = (B), (D)
Options:

878270156261. 1
878270156262. 2
878270156263. 3

878270156264. 4

Question Number : 107 Question Id : 87827039777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are components of a Census ?
(A) Complete enumeration

(B) Collection

(C) Compilation

(D) Printing

(E) Dissemination

Choose the correct answer from the options given below :
(1) (A), (B), (O), (D) only

(2 (A), (B), (O), (E) only

(3) (B), (), (D), (E) only

(4) (A), (O, (D), (E) only

Options:
878270156265. 1
878270156266. 2

878270156267. 3

878270156268. 4

Question Number : 107 Question Id : 87827039777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ffafea § ¥ HE-9 SET F 92F § 2
(A) I TfoT

(B) EIE

(C) Hehad

(D) HW

(E) WERYI

A feu T ferpedi ® 9 @& ST 1 =94 S
(1) %= (A), (B), (O), (D)

(2) %9 (A), (B), (C), (E)

(3) FaA (B), (C), (D), (E)

(4) = (A), (C), (D), (B)

Options :

878270156265. 1
878270156266. 2
878270156267. 3
878270156268. 4

Question Number : 108 Question Id : 87827039778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the sources of data for infant death ?
(A) NFHS

(B) NSSO

(C) Census

(D) SRS

(E) VRS

Choose the correct answer from the options given below :
(1) (A), (B), (O (D) only

(2 (B), (), (D), (E) only

(3) (A), (), (D), (E) only

(4) (A), (B), (D), (E) only

Options:
878270156269. 1
878270156270. 2

878270156271. 3
878270156272. 4

Question Number : 108 Question Id : 87827039778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fore] oo % ariRel % ©id ¥ ?
(A) TTE T T

(B) UTATHTH 3

(C) SFTIE

(D) TH R TH

() SR Ty

Choose the correct answer from the options given below :
(1) ¥ (A), (B), (O), (D)

() ¥ (8), (), (D), (©)

(3) = (A), (O), (D), (B)
(4) A (A), (B), (D), (E)

Options :

878270156269. 1
878270156270. 2
878270156271. 3

878270156272. 4

Question Number : 109 Question Id : 87827039779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are included in the intermediate variables determining fertility as
proposed by Davis and Blake ?

(A) Age of enfry into union

(B) Voluntary abstinence

(C)  Sex composition of previous children

(D) Use of contraception

(E) Death of the infant

Choose the correct answer from the oplions gi\f en below :

(1) (&), (B) (C) only

() (C), (), (E) only
() (&), (B), (D) only
() (8), (©), (D) only
Options:

878270156273. 1
878270156274. 2
878270156275. 3
878270156276. 4

Question Number : 109 Question Id : 87827039779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁf@aﬁﬁﬁ@hﬂaﬁ{ﬁﬁmqﬁmﬁanwﬁmﬁmw g § w7

(A), (B), (C)
€, (8), (E
(4), (B), (D)
(8). (C). (D)

S

Options :

878270156273. 1
878270156274. 2
878270156275. 3
878270156276. 4

Question Number : 110 Question Id : 87827039780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the leading causes of deaths in India ?
(A) Diseases of the circulatory system

(B) Infection and parasitic diseases

(C) Diseases of the respiratory system

(D) Pregnancy and child-birth related conditions
(E) Injury and poisoning

Choose the correct answer from the options given below :
(1 (A), (B), (©), (E) only

(20 (A) (B), (©), (D) only

(3)  (A), (©), (D), (E) only

(4) (B), (©), (D), (E) only

Options:
878270156277. 1
878270156278. 2

878270156279. 3
878270156280. 4

Question Number : 110 Question Id : 87827039780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR &% T o T FEO HiA ¢ 7

(A) ORE=E @ A

(B) e R TLSHel UM

(C) vas Has O

(D) TIHURY UE Y-S Geferd s
(E) =I2 3R fourerii=o

= feu U fasredi § 9 W SO 1 999 FIf9
(1) s (A), (B), (O), (B)

(2) FE (A), (B), (O), (D)

(3) = (A), (), (D), (B)

(4) F=d (B), (O, (D), (E)

Options :

878270156277. 1
878270156278. 2
878270156279. 3
878270156280. 4

Question Number : 111 Question Id : 87827039781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fu]lnwing components are part of Repmduct’we Health ?

(4)

(B) Paralytic symptoms
(C) Metabolic disorders
(D) Sexual health

(E) Maternal health

Choose the correct answer from the DpllDI‘lb gwen below :

Family Planning

T

(1) (B), (O, (D), (E) only
(2) (C), (D), (E) only

(3)  (A), (D), (E) only

(4) (A), (C), (D), (E) only
Options :

878270156281. 1
878270156282. 2
878270156283. 3

878270156284. 4

Question Number : 111 Question Id : 87827039781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



51 O 1 IS TR % 9§ 2
(A) Ofter farsE

(B)  STTHIC &0l

(C) 3U=rft Teaen

(D) ©ifiTeh e

(E) HIqe &

A feu T ferpedi ® 9 @& ST 1 =94 S
(1) = (B), (O), (D), (E)

(2) =@ (O), (D), (B)

(3) < (A), (D), (B)

(4) Fa@ (4), (O), (D), (B)

Options :

878270156281. 1
878270156282. 2
878270156283. 3
878270156284. 4

Question Number : 112 Question Id : 87827039782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the various theories of fertility transition :
(A) Caldwell’s theory of wealth flows

(B) Ideational theory

(C) Demographic transition theory

(D) Malthusion theory

(E) Epidemiological theory

Choose the correct answer from the options given below :
(1) (A), (O, (D) only

(2) (A), (B) only

() (B), (©), (D), (E) only

(4)  (A), (B), (O), (D) only

Options:
878270156285. 1
878270156286. 2

878270156287. 3

878270156288. 4

Question Number : 112 Question Id : 87827039782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) HiTead & 91 Yo fagr

(B) smefevHd fugr

(C) SHEE A fagr

(D) weAfEEE fagr

(E) Inrfers fagr

= feu U fasredi § 9 W SO 1 999 FIf9
(1) %= (A), (©), (D)

(2) A (A), (B

(3) = (B), (O), (D), (E)

(4) &=F (A), (B), (O), (D)

Options :

878270156285. 1
878270156286. 2
878270156287. 3
878270156288. 4

Question Number : 113 Question Id : 87827039783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the fDllowing options may be considered as the perind measures of fel'ljlil}f ?
Child-woman ratio

(

(B

(C) Net reproduction rate
(

(

= =

Gross repmductinn rate

D) Children ever born
Total fertility rate
Choose the correct answer from the options given below :

(1) () (C), (E) only

(2) (A), (D), (E) only
() (A), (B), (C), (D) only
() (A), (B), (©), (E) only
Options:

878270156289. 1
878270156290. 2
878270156291. 3

878270156292. 4

Question Number : 113 Question Id : 87827039783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frreferfiea faered] # A 1 Yo &A1 1 Gref sk Jedieh T S € 2

E) el TolH &Ml <X

Choose the correct answer from the Dptinns given below :

(1) @ (B), (O), (B)

(2) a4 (A), (D), (B)
(3) e (A), (B), (C), (D)
(4) = (A), (B), (C), (E)

Options :

878270156289. 1
878270156290. 2
878270156291. 3
878270156292. 4

Question Number : 114 Question Id : 87827039784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are preconditions for a substantial fertility decline, according Ansley
Coale ?

A)  Acceptance of calculated choice as vital element in marital fertility

B)  Perception of advantages from reduced fertility

D) Secular decline in mortality
E

(
(
(C) Knowledge and mastery of effective techniques of control
(
(E)  Availability of method choice

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2 (A), (B) (C) only
() ) () [0) only
) (8) (), (£ only
Options:
878270156293. 1
878270156294. 2
878270156295. 3

878270156296. 4

Question Number : 114 Question Id : 87827039784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STt el F AR ST 2 JIe e Sewe Ta o R, e § § 3 87
(A) TEfeif foereq wIge To Wl o folt T 9 i |

(B) WS &WT o 52 o T 1Y

(C) A9l dereiier T T a8 3 W6 el

(D) T o Tl Y W &R

(E) fomreq % Tkl &1 Yo

4 feu o fosedi § 9 W& I 1 999 FIAC

(1) e (A), (B), (E)

(2) % (A), (B) (O
(3) (B) (), (D)
(4) (B), (D), (E

r
’

EER
Fad

s

Options :

878270156293. 1
878270156294. 2
878270156295. 3
878270156296. 4

Question Number : 115 Question Id : 87827039785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are components of the intermediate variable framework ?
(A) Factors affecting exposure to intercourse
(B) Factors affecting exposure to conception
(C) Factors affecting exposure to contraception
(D) Factors affecting gestation

(E)  Factors affecting migration

Choose the correct answer from the options given below :
(1)  (A), (B), (C) only

(2)  (A), (B), (D) only
(3) (©), D) (E) only
W (®) (D) () only
Options:
878270156297. 1
878270156298. 2
878270156299. 3

878270156300. 4

Question Number : 115 Question Id : 87827039785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teed =R F HrEEE ¥ s i § 9 # ¥
(A) HET I I FH e FOI

(B) TIHIHUT Rl 3T A el I

(C) Tf%eR k1 3gHIfed SRy alel ek
(D) THTETY ] GHIfed T ATl FRF

(E) WIS Skl 9uTfad i oIl R

A1 few T fomredi # § W& I H =TI HIC ;
(1) = (A), (B), (O)

(2) %ad (A), (B), (D)

(3) = (C), (D), (E)

(4) %9 (B), (D), (E)

Options :

878270156297. 1
878270156298. 2
878270156299. 3

878270156300. 4

Question Number : 116 Question Id : 87827039786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Author Name and Book
(A) Vandana Shiva (I)  Gender Trouble
(B) Judith Butler (I) Ecofeminism
(C) Bina Aggarwal (III) A field of one’s own
(D) Doreen Massey (IV) Space, Place and Gender

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(IT), (O ] (D)-(IV)
(2) (A1, (B)-(0), (O)-(ID), (D)-(IV)
(3)  (A)(IV), (B)-(LI), (C)-(T), (D)-(I)
(4) (A, (BHIV), (C)-(ID), (D)-(1)
Options :

878270156301. 1
878270156302. 2
878270156303. 3

878270156304. 4

Question Number : 116 Question Id : 87827039786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FeAi-1 ¥ g1 1 fre st
gai-1 Helt-11

GECeT ek T ATH
(A) S fom 1) St Zad
(B) Ffeu g ()  FeRThEISTH
(C) =om STIEra (Il) U fiRee ATE 39 3
(D) SR wTE (IV) ¥, oig Tg Siet
e fou U forredl W © W@ ST 1 TIA Hif ;

(1) (A)-(D), (B)-(L), (CO)-(IL), (D)-(IV)
(2) (A1), (B)-(1), (O)-(I), (D)-(IV)
(3)  (AHIV), (B)-(ID), (C)-(T), (D)~(Im)
(4) (A, (B)-(1V), (O)-(11), (D)-(I)
Options :

878270156301. 1

878270156302. 2

878270156303. 3

878270156304. 4

Question Number : 117 Question Id : 87827039787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List-1 List - II
Books Author
(A) Theory of fertility decline () J. C. Caldwell
(B) Population and Technology (II) E. Boserup
(C) India : Population, Economy, Society  (Ill) R. H. Cassen
(D) A population history of India (IV) Tim Dyson

Choose the correct answer from the options given below :
(1) (A1), (B)-(LI), (C(IV), (D)-(1I)

(2)  (A)(I), (B)-(ID), (C)-(1V), (D)-(II)

@) (A1), (B)-(1), (O)-(I), (D)-(IV)

4)  (A)-(D), (B)-(IT), (C)-(L), (D)-(IV)

Options :

878270156305. 1

878270156306. 2

878270156307. 3

878270156308. 4

Question Number : 117 Question Id : 87827039787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FeAi-1 ¥ g1 1 fre st
gai-1 Tell-11

feramar [GECET
(A)  ISFA R e fogra () . 9l Fegaw
(B) SHEEAT 3R WrElfTah! (I) @Y S,
(C) 4R : SHEeEA1, 1Y, GH (I) 3R, TH. A
(D) U YUqedies % 30ead (Iv) fem @A
e fou U forredl W © W@ ST 1 TIA Hif ;
(1) (AL, (B)-(IL), (O-(IV), (D)-(IT)
(2)  (AD), (B)-(II), (C)-(IV), (D)-(1IT)
(3) (A)-1D, (B)-(I), (O-(m), (D)-(IV)
4) (AL, (B)-(II), (O(I), (D)-(IV)
Options :

878270156305. 1
878270156306. 2
878270156307. 3

878270156308. 4

Question Number : 118 Question Id : 87827039788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Measurement Description
(A) Circulatory ratio ()  Measuring inequality
(B) Gini coefficient (II) Measuring importanace of one activity in the city
relative to the general importance of the activity
(C) Functional index (IMl) Primacy of the city
(D) Rank-size rule (IV) Measuring the shape of the settlement

Choose the correct answer from the options giuen below :

(1) (AHIV), (B){1), (CH(T), (DHID)

(&) (AJD), (B](ID), (CH(IL), (D)-IV)
() (AHIV), (BHI), (O, D))
(4)  (AHIV), (BI{IL), (CHI), DK()

Options :

878270156309. 1
878270156310. 2
878270156311. 3

878270156312. 4

Question Number : 118 Question Id : 87827039788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T Tl

LG CUE
(A) AR S (I) STHHA &1 W
(B) firi o (I Y0¥ T Tmeey o W 31 396 SN TR %
T A
(C) ehraicHe: i () 9
(D) -9 & (IV) 9T o ST % A
7 feu T foered # 9 W SO T
(1) (AMIV), (BIL), (CH{I), (D)
() (A1), (B}, (CHII), (D)-IV)
() (AHIV), (BHL), (C)-{I), (D)-()
(4)  (A)M1V), (BIHL), (CIH{), (D}I)
Options:

878270156309. 1
878270156310. 2
878270156311. 3

878270156312. 4

Question Number : 119 Question Id : 87827039789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Disease Cause
(A) Measles (I) Communicable disease
(B) Cerebro vascular disease (II) Non-communicable disease
(C) Hepatitis (Il) Viral disease
(D) Shigellosis (IV) Food and water born disease

Choose the correct answer from the options given below :

(1) (A)-dD), B)-1), (O~II), (D)-{IV)
(2)  (A)-(ID), (B)-(1), (OHIV), (D)L
(3)  (A)I), (BIID), (C)-(II), (D)-(IV)
(4) (A, (B)-(II), (CHIV), (DHID)
Options :

878270156313. 1
878270156314. 2
878270156315. 3

878270156316. 4

Question Number : 119 Question Id : 87827039789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 § elt-11 1 e i
gell-1 11

fl 0T
(A) @Hl () He
(B) Tt o fesita (I) TRFEE I
Q) FwREfH (Ill) 3R
(D) foreifas (V) @ e 3 S | e 2 At e
<l feu 0 foshedl H 9 W& I 957 HIC ;
(1) (A)-(In, (B)-(1), (CHL), (D)-AV)
(2) (AR, B)-0), [©-(IV), (D)-(II)
(3)  (A)HD), (B)-(), (O-Im), (D)-(IV)
(4)  (A)(D), (BRI, (OHIV), (D)-(IT)
Options :

878270156313. 1
878270156314. 2
878270156315. 3

878270156316. 4

Question Number : 120 Question Id : 87827039790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - II
Propounder Model
(A) Ravenstein (I)  Distance between origin and destination
(B) Harris and Todaro (I) Rural and urban wage differential
(C) Lee (IT) Push and Pull
(D) Lewis (IV) Surplus Labour

Choose the correct answer from the options giv en below :

() (A}, BRI, (C-), (D)-1V)

(@) (AHD), (BRI, (CH(I), (D}-(IV)
() (A, B)-), (C)-1), (D}-1V)
(4) (A, B)-0), (C-1V), (D)1L)
Options :

878270156317. 1
878270156318. 2
878270156319. 3

878270156320. 4

Question Number : 120 Question Id : 87827039790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 § Geil-11 =1 firer shifer
Tll-1 -1

yfaares LIEG]

(A) @A (I) 3™ &R Tqed o &4 Tl
(B) R 3R 2w (1) o SR el wergd fasies
(€ (I 1 SR A

(D) feifad (IV) ATy ik

A feu Tu fomredi H 9 WE SR I T4 1T ;

(1) (A, (B)-(ID), (O~II), (D)-[IV)

(2)  (AHI), (B}(II), (C}(L), (D)-(IV)

(3) (A, (B)-D), (C)-(1), (D)-(IV)

(4) (A, (B)-0), (OH1V), (D)-(IM)
Options :

878270156317. 1
878270156318. 2
878270156319. 3
878270156320. 4

Question Number : 121 Question Id : 87827039791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
SDG Goal Indicator
(A) Goall ()  End preventable death under 5
(B) Goal 2 (I) Ensure primary education completions
(C) Goal 3 (Il) Eradicate extreme poverty
(D) Goal 4 (IV) End malnutrition (stunting)

Choose the correct answer from the options given below :
(1) (A1), (B)-(L), (), (D)-(IV)
(&) (AHI, (B)-(L), (C)-(IV), (D))
(3) (1), (B-(IV), (C)-(D), (D)-(I)
( (

(A
(A }
1) (AHIV), (BHI), ©-(I), (DA

-
A)-
Options :
878270156321. 1
878270156322. 2
878270156323. 3

878270156324. 4

Question Number : 121 Question Id : 87827039791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl 4 G-I 1 foer it

Tl T
e fawrs oo (1| F ) Hehdeh

(A) ¥ 1 (I) 5989 %% 35 § e §eg ol 9
(B) w2 (1) effeer fone U feran S ey e
(Q @& 3 (L) S T 21 3T el

(D) @& 4 (IV) 0 1 §HTG R (F)

A few o e WE SR A T FIC ¢

(1) (A0, (BR), (CHII), (D)-(IV)

(2) (A, B, (C}-1V), (D))

(3) (A, (B)-(IV), (CHD), (D)-(I)

(4)  (A)(IV), (BHD), (C)-(1), (D)-(Im)

Options :

878270156321. 1
878270156322. 2
878270156323. 3

878270156324. 4

Question Number : 122 Question Id : 87827039792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - I List - II
(A) Brass growth balance method  (I) Multiple census method
(B) Estimation of adult mortality (I)  Incomplete data
from sibling histories
(C) Model life tables (IlT) Survey data
(D) Generalized growth balance (IV) One census method
method

Choose the correct answer from the Uptiuns given below :

(D) (A)-0), B}IV), (C)-(I), (D)-(I)

(2)  (A)-AV), (B)-(1), (C)-(I), (D)-(I)
(3)  (AHIV), (B)II), (O-1D), (D)-()
(4 (A)-), B)-(I), (C-(I), (D)-(IV)

Options:

878270156325. 1
878270156326. 2
878270156327. 3
878270156328. 4

Question Number : 122 Question Id : 87827039792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 § Geil-11 =1 firer shifer
Tell-1 -1

(A) 99 foeprg Ged fafy (I) =ge S fafy
(B) HEIG % A ¥ THEF Yoqal ol HIAH (I) &0 HS

(C) wiree Sifer HRU (L) wee afierg
(D) | foswm gqer fafy (IV) T Ao fafy
9 fou o famedi ® ¥ WE SO o 999 S

(1) (AMI), (BHIV), (C}(ID), (D)-(IM)

(2)  (AHIV), (B)(I), (C}-(LI), (D)-(ID)

(3)  (AHIV), (B)I), (O)-(ID), (D)-(0)

(4)  (A)(I), (B)-(I), (C}(L), (D)-(IV)

Options:

878270156325. 1
878270156326. 2
878270156327. 3

878270156328. 4

Question Number : 123 Question Id : 87827039793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List - I List - II

(A) (I)  Reliable and valid

(B) (II)  Reliable but invalid
(©) (II) Valid but unreliable
(D) (IV) Unreliable and invalid

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(IIT), (O)-(II), (D)-(L)

(2)  (A)-(IL), (B)~(1D), (O)-(I), (D)-(IV)

(3)  (A)ID, (B)-(1), (C)-(IV), (D)-(I)

4)  (A)-(D), (B)-(II), (O)~(1LD), (D)-(IV)

Options:

878270156329. 1

878270156330. 2

878270156331. 3

878270156332. 4

Question Number : 123 Question Id : 87827039793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

eit-1 9 GeH-11 = e it

Tei-1 -1

() favagdrg sir 9y

(I) TovaEsg dfeT say

(IIT) 9% <ifer StfavagHa

(IV) sfavaaE R 94

= feu 7o foeredi # | & TR 1 =997 HiT
(1) (A)-(1V), (B)-(I), (O)-(1D), (D)-()

(2)  (A)I), (B)-(1D), (C)-(I), (D)-(1V)
(3)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(I)
(4)  (A)-(D), (B)-(IT), (C)-(IL), (D)-(IV)
Options :

878270156329. 1

878270156330. 2

878270156331. 3

878270156332. 4

Question Number : 124 Question Id : 87827039794 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - [ with List - IL
List - I List - II

Children aged 0-4 <100

(A) Dependency Ratio (I) Women aged 13- 44
Males
(B) Child - Women Ratio (1D x 100
Females
Eiﬁx = EJH%
(C) Sex ratio at birth (II) = ZPI = Zi Where p; is the

pnpulal‘mn at pomt i and X, and I are its horizontal
and vertical coordinates respectively

|G1ildlEn + Eldereyl
Working ages population

(D) Mean center of population (IV)

Choose the correct answer from the options given below :

(1) (AHD), (BHIV), (CHI), (D)

)
(&) (AHLV), (BID), (CHIE), DM
() (AHIV), (B)1), (CH), (DHI)
(@) (A1), BHL), (O-), D)-IV)
Options :

878270156333. 1
878270156334. 2
878270156335. 3

878270156336. 4

Question Number : 124 Question Id : 87827039794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T Tl

0-47 % 7w
i g LTI EEr = <0
() Tt A m
1:r = /1

Q) 5 o T femgum ZZPP Z{pj W p, i o A €

ST, By, S 0k & o vt e
D) L Iv {ﬁm} 100
TR A FEEE Erh
e e o foered 4 W& 1 9 A
(1) (AHD, (B-IV), (CHI), (D)
() (AHIV), (BH), (CH{I), (DH)
G (AMIV), (B{D). (CH), (D))
() (AHD), (B-(I), (CH), (D1V)

Options:

878270156333. 1
878270156334. 2
878270156335. 3

878270156336. 4

Question Number : 125 Question Id : 87827039795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II

(A) Probability of surviving from ] X =ly
age x to agey

(B) Number of people dying (Iy Tx
between ages x and y

(C) Name of person years lived (I Tx — Ty
between ages x and y

(D) Person years lived above age x  (IV) ly/Ix

Choose the correct answer from the options given below :

(1) (A, (B)-(1), (O-(II), (D)-(IV)

(2) (A, (B)-IV), (O-(ILL), (D)-()

(3) (A1, (B, (O-(I), (D)-AV)

(4)  (ANIV), (B)-(1), (C)-(I1I), (D)-(I)

Options :
878270156337. 1
878270156338. 2

878270156339. 3
878270156340. 4

Question Number : 125 Question Id : 87827039795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



geit-1 9 gHi-11 =1 fAer i

gai-1 81|
(A) x 39 Yy 39 e Sferd o= Hi HHEHAT () Lx- Ly
(B) x3W AN y 39 & o9 WA A AN H H@N (1) Tx
(C) x 3 &N y 3 & &g i ot Al B gem (1) Tx — Ty
(D) x ¥ 3{f¥ek 39 S+ et AT bl HE&A (IV) Ly/Lx
T feu 7o femredi § 9 We 39 & 9949 Ffe
(1) (A)(I), (B)(D), (C)-(I), (D)-(IV)
2) (A1), (B)-(IV), (O)-(ILI), (D)-(I)
(3)  (A)-D), (B)-(II), (C-(I), (D)-(IV)
4)  (A)-(IV), (B)-(I), (C)-(HI), (D)-(ID)

Options:

878270156337. 1
878270156338. 2
878270156339. 3

878270156340. 4

Question Number : 126 Question Id : 87827039796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the type of migration / mobility by the stages of development as persented in mobility
transition theory.

(A) Very low international migration and increased urban to urban migration

(B) Low mobility

(C) Increased rural to urban and international migration

(D) Slow international migration

Choose the correct answer from the options given below :

) (D) (A)®) O

2 (©) (&), (D) 6

3 (A)6) () D)
( , (D), (A

(
(
(@) () (C) D) (4)



Options :

878270156341. 1
878270156342. 2
878270156343. 3
878270156344. 4

Question Number : 126 Question Id : 87827039796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S fo yamg ofterd fagie & foon T &, fom & <ol & o vereR/fouiem % YR @1 erafn
i

(A) ST AT AT S et ¥ e W e W afg

(B) i i

(C) A H WX A SR AR R Yo § g

(D) i T § SFATe o ¥ 9

e e e fered 4 Tt 3o 1 T A

(1) ) (A) ©) ©

) (©) (4), D) (B)
) (A) B),

) ) ©)

C
D

(D)

(4

2
3
(¢

©
()
Options:

878270156341. 1
878270156342. 2
878270156343. 3

878270156344. 4

Question Number : 127 Question Id : 87827039797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following documents/books in chronological order (from first to last) :
(A
[
(C) Limits to Growth
(D)

) Population Growth and Economic Development in Low-income Countries.

B) Population and Technical Change

The Population Bomb
Our Common Future

(E)
Choose the correct answer from the Dptinns given below :

(1) O) (4) ©), ) B)
(2) (4).(D) ©), (B) )
B ©) (4 © [E), B
(4) (A) (D) B), ) ()
Options:

878270156345. 1
878270156346. 2
878270156347. 3

878270156348. 4

Question Number : 127 Question Id : 87827039797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
feAferfia Seresl / el &1 (YR § 37d o 5 ) FIeRAIER S4afeed Hhifs ;
(A) ORI Y U8 IR Saeie 31 o 3R F

(B) eI Ug fereet = |

(C) fafem 2 M

(D) & e s

(B) &N HE Yl

A feu T fomwedi § 9@ I F T Fifaw
(1) (D), (4) (©), (E), (B)

(2) (A), (D) (©), (B), [E)

) ([©) (A)(©), E), (B)

4) (4). (D) B) O, E



Options :

878270156345. 1
878270156346. 2
878270156347. 3

878270156348. 4

Question Number : 128 Question Id : 87827039798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following schemes in chronological order of their initiation (Old to New)
(A) Ujwala Yojana

(B) The National Urban Health Mission

(C) Pradhan Mantri Awaas Yojana

(D) Janni Suraksha Yojana

(E)  Ayushman Bharat

Choose the correct answer from the options given below :

(1) (A) (B) (D), () ()
@ ®) 1) (E) D)
@) O (B) (4), E), €
() (D) (B) (C) (A), (E)
Options:

878270156349. 1
878270156350. 2
878270156351. 3

878270156352. 4

Question Number : 128 Question Id : 87827039798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafeaa dreeti s FespaER (q04 9 70) SHared S
(A) S S

(B) WM 37& o fHYME

(C) T STam s

(D) SHAT e Ars

(E) g™ MR

"= feu o fawedi § 9 WE S9¢ & 999 FHIf9T
(1) (A), (B) (D), (C), (E)

(2) (B), (A) (Q), (E), (D)

(3) (D) (B) (A), (E), (C)

(4) (D), (B) (C), (A), (E)

Options:

878270156349. 1

878270156350. 2

878270156351. 3

878270156352. 4

Question Number : 129 Question Id : 87827039799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the research activaties mentioned below from beginning to end.
(A) Data collection

(B) Questionnaire preparation

Ethical clearance

Data cleaning

Analysis

(E)
Choose the correct answer from the nptinns given below :

(1) (A) (B) (©), (D), (E)
(2 B),(© (A) (D), (E)
(3)  A)(©) (D), B) E)
@ (©) (A)(B), (D) (E)



Options :

878270156353. 1
878270156354. 2
878270156355. 3
878270156356. 4

Question Number : 129 Question Id : 87827039799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frfafaa vy & 6 Ry g 37q & 0 § A &g
(A) TS H HIE
(B) WA qIR AT
(C) i =gl
(D) BT FAlHT
(E) Tfaweryo
<3 fiew T, Forepeti G W SO 1 = I
(1 (A), (B) (©), (D), (E)

(2 (), ©) (A, (D), (B)

3) (A (©) (D), (B), (E)

4) (©), (A) (B), (D), (E)
Options:

878270156353. 1
878270156354. 2
878270156355. 3
878270156356. 4

Question Number : 130 Question Id : 87827039800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the states in descending order (high to low) in terms of total Shedule Caste population,
according to Census of India, 2011 :

(A) Punjab

(B) West Bengal

(C) Himachal Pradesh

(D) Madhya Pradesh

(E) Uttar Pradesh

Choose the correct answer from the options given below :

(0 (&) (€ B) € O)
)

@ ), D) &) @A)
(3) (&) [©) B), ) E)
() (E), D) (), (4) ©
Options :

878270156357. 1
878270156358. 2
878270156359. 3

878270156360. 4

Question Number : 130 Question Id : 87827039800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G 1 SO 2011 % SFER ettt T o et e ifd Y o) o e (afee §
3 3R 7 ¥ e i :

(A) T

(B) =M e
(C) et wem
(D) ¥ 9

() IWwA

4 fou T fomedl § H W@ SR T F
(1) (A) (€, {), E), D)

@ ®) € D) (E) (4)

() (A) (D) ®) €, E)

4 @ D) @) @A) ©

Options :

878270156357. 1

878270156358. 2

878270156359. 3

878270156360. 4

Question Number : 131 Question Id : 87827039801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the followhlg states of [ndia in descending order accordjng to the level of Maternal

Mortality Ratio (MMR) is per SRS Special Bulletin (2018-2020)
(A) Bihar

(B) Assam

(C) Maharashtra

(D) Jharkhand

(E) Tamil Nadu

Choose the correct answer from the opllons gw en below :

(1) (&) () E), (D) ©
@ ), (4)0)E)C
3) () 0) @A), E) ©
() (A) (B) (D), E) ©
Options:

878270156361. 1
878270156362. 2
878270156363. 3

878270156364. 4

Question Number : 131 Question Id : 87827039801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TH R T T qefied (2018-2020) % SER M9 G A0 (T T W) % TR S0 &
et oe o eraer (i @ W) W W oFafe S

() TR
(B) A
(€) e
(D)

(E) HFWE

el feu T foped o 9 W@ W 0 7 HAC
(1) (&), () &), (D) ©

(@ () (4) D), E) ©
(3) (), D) (A) ), €
(@) (&) () D), ) ©
Options :
878270156361. 1
878270156362. 2
878270156363. 3

878270156364. 4

Question Number : 132 Question Id : 87827039802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following major states in descending order (high to low) in term of infant mortality
rate as shown in SRS Bulletin (reference year 2020)

(A) Bihar

(B) Odisha
(C) Rajasthan
(D) Madhya Pradesha

(E)  Uttar Pradesh

Choose the correct answer from the options given below :

() (&), () (©) D) )
)

@ ), © D) @A)
3 (©, D) () (4) B)
() (D) (E) (), (C) (A)
Options:

878270156365. 1
878270156366. 2
878270156367. 3
878270156368. 4

Question Number : 132 Question Id : 87827039802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feperfefiad T T %1 U9 SR T qeifed (T - 2020) W < U SR ] 9 < % S
(s B W) 3w W ot o ;

7 fou o fomredl o B W W TH Fi0
(1) (A) (B)(C) D) €

Options :

878270156365. 1
878270156366. 2
878270156367. 3
878270156368. 4

Question Number : 133 Question Id : 87827039803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the population conference chronologycally (old to new) by name of the city :

(A) Bucharest

(B) Rome

(C) Mexico city

(D) Cairo

Choose the correct answer from the options given below :

(1) (A) @) (C) (D)

@ (@) B)A) G
©) 6, A Q) D)
@ © D) ) 4



Options :

878270156369. 1
878270156370. 2
878270156371. 3
878270156372. 4

Question Number : 133 Question Id : 87827039803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frerfefas et 1 Seen grier] % FIeER (Yd 8 9au) S Fif .

Options:

878270156369. 1
878270156370. 2
878270156371. 3

878270156372. 4

Question Number : 134 Question Id : 87827039804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following form 1% to 4t stage, according to Zelineskey's model of migration :
(A) Rural to urban and international

(B) Slowing down of international

(C)  Low mobility

(D) Very low international and urban to urban

Choose the correct answer from the options given below :
(1) (A) ®), (C), D)

@ ®)(©) @) &)

) O)(C) (A) (B)

@ € (A) ({), D)

Options:

878270156373. 1

878270156374. 2

878270156375. 3

878270156376. 4

Question Number : 134 Question Id : 87827039804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sifcieh! o YaTe o e o S7aR frAfaEa @ 99m § 99y TR F F 1 SFad #i ;
(A) T § TR AR S

(B) TR YA i M w2

(C) = wiaviieran

(D) g0 W A SN R H e A R

et feu mu fomredi # @ WE S T FAC

(1) (), @), (C), D)
@) (@) () D) (A)
() () (C), (A) (B)
4 (€ (A), (B), D)
Options :

878270156373. 1



878270156374. 2
878270156375. 3

878270156376. 4

Question Number : 135 Question Id : 87827039805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following data sources chronologically by their year of inception from old to new.
(A) NSS
(B) NFHS
(C) Census
(D) LASI
(E) SRS

Choose the correct answer from the options given below :

(L) B) D) (©) (A), E

@ © (@A) () () (D)
(3) () (B) (A), (D), ©)
() (8)(B), (), (D), (E)
Options :

878270156377. 1
878270156378. 2
878270156379. 3
878270156380. 4

Question Number : 135 Question Id : 87827039805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e % ffafd Bl 1 3 1 % a4 (0 8 ) F FEHIHR add i :
(A) T gfRd HEwm (T T )
B WG
(C) A (H9H)
(D) TETTH oM
() WM

1 fou U fomedl o § W@ SR F T Fo ;

(1) (8) D) (© (A), )
@ © @A) ©) B) D)
(3) (E) (B) (A), (D), ()
@) (4)8)(C), D) E

Options:

)
) |
)

878270156377. 1
878270156378. 2
878270156379. 3

878270156380. 4

Question Number : 136 Question Id : 87827039806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : In a high mortality situation, the death rate by age, form a U-shaped curve
indicating a high mortality in early and old ages.

Statement (II) : At low levels of mortality, the pattern of age specific death rate changes to
J-shaped curve indicating a ralatively higher mortality in the very early period of
life, which drops to a low level after the hazards of early life and extends over a
long period of life, increases in old ages.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options:

878270156381. 1

878270156382. 2

878270156383. 3

878270156384. 4

Question Number : 136 Question Id : 87827039806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:

T (1) To g 1 e H 9 o el YRR (7) - o ST 9k o @ S AR 3N
i 39 ¥ o g 1 M ¢

O (I1) : o < of 3 Sl 0 39 fafiTee g <t e (1) SRR o ik W 90 21 16l €, S et
%) S, 0 e S o S o a1 v T o e € o e feream et o
it oty 7 & g o 3 ofg & €|

IR FH F A B, 7 feu - fomred o @ W@ S 9 #ifa

(1) FFIIRFIR TA 2

(2) YR 1 3 R 11 G 5 &

(3) O ITA ¢, TR HOF 1 A €

(4) U1 A B, A FT T &

Options:

878270156381. 1
878270156382. 2
878270156383. 3
878270156384. 4

Question Number : 137 Question Id : 87827039807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The ability of women to control their own reproduction and the overall level of
their reproductive health are closely related to changes that occur in the context
of the epidemiological transition

Reason (R):  In agricultural socites women are busy with pregnancy and child care, and men
are able to manipulete and exploit women by tying the status of women to
reproduction and rearing of children

In the light of the above statements, choose the most appropriate answer from the options given

below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270156385. 1

878270156386. 2

878270156387. 3

878270156388. 4

Question Number : 137 Question Id : 87827039807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 & T fou € e oo (A) % w0 A feffg € 1 g S RO (R) § w9 A
AR (A) : T T 1 T o 1 Afeenan o 4 SR ST eI SR o §
R ot et o Heo # 2 el e § 97 g 3¢
HIOT(R): I HS H HEey e SR - GEe § S Tl ¢ A 76 Aeena i fef
F1 Yo S T & W6 T B e 3 WY - 9 ¢ SR S mem
F W &

IR FH F A B, 7 feu - fomred o @ W@ S 9 #ifa

(1) < (A) 1 (R) ¥ € AR (R), (A) 91 ¥ oA &

(2) A (A) 4R (R) T € A (R), (A) 1 5E omen 7 &

(3) (A)5E E W (R) 79 €

(4) (A) A & A (R) T 8

Options :

878270156385. 1

878270156386. 2

878270156387. 3

878270156388. 4

Question Number : 138 Question Id : 87827039808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Sensitivity of the test is defined as ability to correctly diagnose the positive who
have the disease.

Statement (II) : Specificity of the test is defined as ability of the test to correctly diagrnose negative
who do not have the disease.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3

(

4)  Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect



Options :

878270156389. 1
878270156390. 2
878270156391. 3

878270156392. 4

Question Number : 138 Question Id : 87827039808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EEEEN AR

T (1); T S 9 Hofem 1 T At F W T Frem A e ' § R
BRI

R (1) : Torelt T 1 forgieen 401 T afet 26 ST o e e a1 e o & R fon
Sl

T S o ST W, Aol foU U foeredl o § Wl I 9 A

(1) IR FATI M F ¢

() FRIIMFW T 959 ¢

(3) O 1 H ¢, Cifé e 11 997 ©

(4) U1 A &, A FHA &

Options :

878270156389. 1

878270156390. 2

878270156391. 3

878270156392. 4

Question Number : 139 Question Id : 87827039809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The higher the rate of population growth, the higher the rate of investment must
be - also known as "population hurdle’, If a population is growing so fast that it
over-reaches the rate of investment, then it will be stuck in vicious cycle of poverty.

Reason (R):  The use of every resource leads to west products and inefficiency in reducing
west determine the extent to which sustainable standard of living may be achieved.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270156393. 1

878270156394. 2

878270156395. 3

878270156396. 4

Question Number : 139 Question Id : 87827039809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 & T fou € e oo (A) % w0 A feffg € 1 g S RO (R) § w9 A

frReR (A) : SN 31 o fo o &, fow o ot S € anfer 2t e - % e
ey ot o I €1 2 T 3o oo B 95 T § 7 Few @ mR
¢, @ g it & forom = o o

TAOT(R):  TOF W & W W AU F A G 1 ¢ S AU T 6
3 T 1 fi e € o 7 o e TR # e fn o w g

IR FH F A B, 7 feu - fomred o @ W@ S 9 #ifa

(1) < (A) 1 (R) ¥ € AR (R), (A) 91 ¥ oA &

(2) A (A) 4R (R) T € A (R), (A) 1 5E omen 7 &

(3) (A)5E E W (R) 79 €

(4) (A) A & A (R) T 8

Options:

878270156393. 1
878270156394. 2
878270156395. 3
878270156396. 4

Question Number : 140 Question Id : 87827039810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The World Fertility Survey (WFS) were started in the year 1972 with the financial/
assistance from USAID

Statement (II) : India participated in the World Fertility Survey (WFS)

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3

(

4)  Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

Options :



878270156397. 1
878270156398. 2
878270156399. 3

878270156400. 4

Question Number : 140 Question Id : 87827039810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4 @ FA UM E
F(1): 00 aE & ol e it and 1972 3 fove o elen (v U ) W ke
LEIRYN

T (I1) : 9T 1 fova Yo Jeleqml (e 0% W) W o fon|
W FA & o W, A fou e o @ W S 9 S
1) U L3R BRI T

) U1 SR BRI G 9 &

) R T €, Tf w11 ¢

4) T 2, A KON B

g |

(
(
(3
(
Options :

878270156397. 1
878270156398. 2
878270156399. 3

878270156400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701669
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039811 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the table given below and asnwer the following questions.
Table : Tend in census population in India (1901 - 2011)

Sr. Total (in | Sex |Population Desadl Annual' % Utban
No Heat lakh) | Ratio | Density Griowth,| Expareniel Population
Rate |Growth Rate
1| 1901 2384.0 972 77 NA NA 10.85
2 | 1911 2520.9 964 82 5.75 0.56 10.29
§ | 1921 2513.2 935 81 | -031 -0.03 11.18
41 191 2789.8 950 90 | 11.00 1.04 11.99
5 | 1941 3186.6 945 103 | 1422 1.33 13.86
6 | 1%l 3610.9 946 117 | 1331 1.25 17.29
7 | 191 4392.3 941 142 | 2164 1.96 17.97
8§ | 1971 5481.6 930 177 | 2480 2.20 19.91
9 | 1981 6833.3 934 216 | 24.66 2.22 23.33
10 | 1991 8464.2 926 207 | 23.87 2.14 2.70
11| 2001 | 102874 933 325 | 21.54 1.97 27.81
12 | 2011 | 121085 943 382 | 17.70 1.64 3114

Source : Ofo Register General of India

Sub questions

Question Number : 141 Question Id : 87827039812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Durjng which year, annual Expcmenl'ial gmwth rate was the ]ﬂghest ?

(1) 1991
(2) 1981
(3) 1971
(4) 1961



Options :

878270156401. 1
878270156402. 2
878270156403. 3
878270156404. 4

Question Number : 142 Question Id : 87827039813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From which of the following year, sex-ratio started increasing after declining trend since 1911 ?
(1) 1901

(2) 1931

(3) 1971

(4) 2001
Options :
878270156405. 1
878270156406. 2
878270156407. 3

878270156408. 4

Question Number : 143 Question Id : 87827039814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which year population density declined ?

(1) 1901
(2} 1911
(3) 1921
(4) 1931
Options :

8782701564009. 1



878270156410. 2
878270156411. 3

878270156412. 4

Question Number : 144 Question Id : 87827039815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From which year, decadal growth rate started declining consistently ?

(] 1921
(2) 1941
3] 1871
(4) 1981
Options :

878270156413. 1
878270156414. 2
878270156415. 3

878270156416. 4

Question Number : 145 Question Id : 87827039816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

During which year, there was highest increase in percent of urban population over previous
year 7

(1) 2001

(2) 1951
(3) 1981
(4) 2011

]

Options :
878270156417. 1

878270156418. 2



878270156419. 3
878270156420. 4

Question Id : 87827039811 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)
Question Label : Comprehension

et <t 7 fer aht ofeu ofR frefarfian wo % ST e
TICTeRT : WA W ST ST &l Fgi (1901 - 2011)

FEH |9 | mm S SR

(vr@) yieror
1 [1901] 23840 972 | 77 | NA NA 1085
2 [1911] 25209 %4 | 82 | 57| 056 1029
3 (1921 2513.2 955 | 81 | 031 -0.03 1118
4 [1931] 27898 950 | 90 [11.00 [ 1.04 11.99
5 [1941] 3186.6 945 | 103 [142] 133 13.86
6 [1951] 3610.9 946 | 117 [1331] 125 17.29
7 [1961] 43923 041 | 142 [21.64 | 1% 17.97
8 [1971] 54816 930 | 177 [2480 | 220 1991
9 [1981] 68333 934 | 216 |24.66 | 222 2333
10 [1991] 8464.2 926 | 267 2387 | 214 25.70
11 [2001] 10287.4 933 | 325 [2154 | 197 2781
12 [2011] 121085 943 | 382 [17.70 | 164 31.14

B : W AT LT T

Sub questions

Question Number : 141 Question Id : 87827039812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

e a9 % <A anfiss wwTE afs ) Ted sifues off ?

(1) 1991
(2) 1981
(3) 1971
(4) 1961
Options :

878270156401. 1
878270156402. 2
878270156403. 3

878270156404. 4

Question Number : 142 Question Id : 87827039813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafaa @ forg ad ®, 1911 9 19t Y9fa % e & S ae % g0 7

(1) 1901
(2) 1931
(3) 1971
(4) 2001
Options :

878270156405. 1
878270156406. 2
878270156407. 3

878270156408. 4

Question Number : 143 Question Id : 87827039814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fere ad o SHEE g FH gl ?

(1) 1901
(2) 1911
(3) 1921
(4) 1931

Options:

8782701564009. 1
878270156410. 2
878270156411. 3

878270156412. 4

Question Number : 144 Question Id : 87827039815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fore o ¥ gk gfig S TFIaR FH B I 85 7

(1) 1921
(2) 1941
{8y 19¥1
(4) 1981
Options :

878270156413. 1
878270156414. 2
878270156415. 3

878270156416. 4

Question Number : 145 Question Id : 87827039816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e o < foed o ol e | vt giawd W sfaehan 9fs g8 ot 2

(1) 2001
(2) 1951
(3) 1981
(4) 2011

Options:

878270156417. 1
878270156418. 2
878270156419. 3

878270156420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701670
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039817 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Answer the question basis of the following paragraph.

Village Otharwane lies in Sawantwadi in Maharashtra. A total number of households in the
village is 360. Nearly 90 percent households own less than 5 acres of land to forma large group of small
and marginal farmers. Only 3 percent own 10 to 15 acres of land. There are 9 female headed households.
Among the household 40 depends on craft production. Buying and selling are dominated by men and
only 12 households reported participation of woman in marketing. Among the remaining households
who are dependent on craft production women are confined mostly withcraft production. Appropriation
of marketing by men is done as it is carried out outside the village in the nearby towns. The traditional
gender norm of mobility restricts women. Craft ensures survival but brings low return. Thus, women
are always considered as helper whereas they are main contributors and they perform the role of the
risk-bearer.

Sub questions

Question Number : 146 Question Id : 87827039818 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What percent of the households in the uillage are female headed ?

(1) 2.0

(2) 25
(3) 3.0
4) 3.5

Options :

878270156421. 1
878270156422. 2
878270156423. 3

878270156424. 4

Question Number : 147 Question Id : 87827039819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of craft depmdenl and non-craft dependent households in the village ?
(1) 1:8

2 2:8
(3) 3:7
(4) 4:8
Options :

878270156425. 1
878270156426. 2
878270156427. 3

878270156428. 4

Question Number : 148 Question Id : 87827039820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

How many households in the village Otharwane are small and marginal farmers ?
(1) 300

(2) 324
(3) 330
(4) 350
Options :

878270156429. 1
878270156430. 2
878270156431. 3

878270156432. 4

Question Number : 149 Question Id : 87827039821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Most of the women confined themselves with craft production whereas marketing
is done by the men.

Reason (R):  Markets are outside the village and mobility restrictions on women keep them
away from marketing activities.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of ()
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270156433. 1

878270156434. 2

878270156435. 3

878270156436. 4



Question Number : 150 Question Id : 87827039822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
In the light of the paragraph which among the following statements are correctly depicting women’s
work.

Women's work in craft ensures survival

) Craft generates high income

(4)
B
(C) Women are the main contributors in income
(D) Women's work is considered as helper

(E) Women's work contribute in risk aversion

Choose the correct answer from the options given below :

(1) (B), (©), (D) only

() (A)(C), (D), (E) only
() (B), (C), (E) only
(4 (A). (D), (B) only
Options :

878270156437. 1
878270156438. 2
878270156439. 3

878270156440. 4

Question Id : 87827039817 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827039818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Titer ¥ frem gfaed =r Afeen—wrar e & 2

(1) 2.0
{2) 2B
(3) 3.0
(4) 3.5
Options :

878270156421. 1
878270156422. 2
878270156423. 3

878270156424. 4

Question Number : 147 Question Id : 87827039819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tita H forew snfaa ok TR forew anfam =3 1 o U & €2

(1) 1:9
(2) 2:8
(3 3:7
(4) 4:8

Options:

878270156425. 1
878270156426. 2
878270156427. 3

878270156428. 4

Question Number : 148 Question Id : 87827039820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sirarae e § e iR 3id foharl ot ffan R R 2

(1) 300
(2) 324
(3) 330
(4) 350
Options :

878270156429. 1
878270156430. 2
878270156431. 3

878270156432. 4

Question Number : 149 Question Id : 87827039821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270156433. 1
878270156434. 2
878270156435. 3
878270156436. 4

Question Number : 150 Question Id : 87827039822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) foeq sk s 31 Xl B
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(D) wfenel % W H1 FerE WA I ¢

(E) wieanst 1 Fm Sifew fam ¥ w=eEe ¢

Choose the correct answer from the options given below :
(1) %A@ (B), (C), D)

(@ F@ (4), (), (), )

() F (B), (C) (E)

(4) 9 (4), (D), )

Options :

878270156437. 1
878270156438. 2
878270156439. 3

878270156440. 4



